FINIO
USER GUIDE

(AR) JUibsi dyye sl s
(EN) RECLINED CRADLE USER MANUAL
(Cs) LEHATKO NAVOD K OBSLUZE
(DE) BABYLIEGE BEDIENUNGSANLEITUNG
(ES) HAMACAS RECLINABLES MANUAL DE USARIO
(FR) TRANSAT GUIDE D’UTILISATION
(HU) PIHEHOSZEK HASZNALATI UTASITAS
(IT) SDARIO ISTRUZIONI PER UTENTE
(NL) WIPSTOEL GEBRUIKSAANWUZING
(PL) LEZACZEK INSTRUKCJA OBSLUGI
(PT) BERCQ MANUAL DE INSTRUGOES
(RO) LEAGANULUI MANUAL DE UTILIZARE
(RU) LUE3NIOHT PYKOBO/CTBO 10 3KCMNYATALIMM
(SK) LEZADLO NAVOD NA POUZIVANIE
(SV) LOUNGER ANVANDARMANUAL

MODEL: FINIO v12 EN 12790:2009

SCAN TO WATCH
THE VIDEO!







All rights to this data are entirely reserved to 4Kraft Sp. z 0.0. Any unauthorized use or misuse, including usufruct,
copying, duplication and sharing, wholly or partially, without consent of 4Kraft Sp. z 0.0. may result in legal
consequences.

AR s 11
G s 13
DE 15
EN e 18
ES 20
PR e 22
HU Lo 25
LT e 27
N e 29
P 32
P e 34
RO 36
RU e 39
SK 41



USEYI p oY dmuss b Yy K45 el 38 sl / llustrace jsou pouze orientaéni a nepredstavuji plné zobrazeni produktu./Die gezeigten Bilder dienen nur als
Referenz, das tatséchliche Produkt kann von der Abb\\dung abweichen./The illustrations are for illustration only and do not represent the product./Las ilustraciones
son orientativas y no completa del producto./Les illustrations sont données  titre indicatif et ne constituent pas une
représentation mmp\ete du produit./Az |Ilusz\racmk csak tdjékoztatd jellegiek és eltérhetnek a valos terméktdl./Le immagini sono inserite a scopo dimostrativo e non
rispecchiano appieno le caratteristiche del prodotto. /De afbeeldingen dienen itsluitend ter illustratie en geven geen volledig beeld van het product./llustracje maja
charakter pogladowy i nie stanowia pefnego odwzorowania produktu./As ilustragdes tém uma fungdo informativa e no sdo uma representagéo fiel do produto./
llustratiile sunt doar pentru referintd si nu reprezintd produsul complet./ManKCTpaLMM NPUBEAEHDI TONLKO ANA CIPABKY W He NPe/CTaBAAIoT Bech NpoayKT./Obrazky
slizia len na lustraciu a nie st Gplnym predstavenim produktu./Illustrationer ar endast for referens och representerar inte hela produkten

K:2

-

-+




/ 2L L L
/Y
\\\\ 1227 ..

10



















lajisall Libas
Kinderkraft jlga jloal o o<
el Yl a8 Al ol i g3 labglgf Zaske B Ll sagally 23l \JJ Db dgage lasass

Mo 4] g 92yl doliay Ll 1o bsl 1ol

il gl gas Gy Lk
Adlha f i) 099 ikl L as
Oon b (S Lasie ol allgall g p2i33 Y
s lua (g4 sdag (uglal)
Alghll ol il aans - Jilal) 3¢ 122
Jilal) (o Pl -Alglal) Jham aipe e (o Jilall allgal) aga gl (S
L) ais Ll paiil
23S 9 oliadl (g i B Joan JULI ) gl g e
Sllila S 1Y (5 ag gl ppud) o JUlY) e Jae il adlgall 2ga Jar Y
RERSWIP NV AV PRCYICH PV i R

rluaa iy 293l (FINT) o punss ol La
Ul Ay Al (il ay (B3 i i) i 1y
LB e dlagi )
g 60924 eAJLAG\ oL ¢l Juadu il 1 éwa
89 pustall pgiar (uilly — ol 3a€ pa€ 20 (g (i
B35 Lusa
() ) ol sl sl cun s 1Y) il piis Y
Asiad) 263 Lpadel Al s Gy e ol f cliale piias Y
e Gl JULT agmg pe o S ety iiall a ol dila] Cigan Cin ol 0
clily il 3gag ol alens gl sy
A Blall las i CipiCdl Cugll ot sie Jllidl (e sl

11




Cligal) il -

4 o5
&Yy

(e o) A€adls ales
Y Ly e i
Ny

e b e |
“L)'J o e sl
LMBX65 25

L MBX85 25
LN6GE 2x

o | Q||| |||~

—_
IS

L

—_
=

ol MdX15 2

Sy ALl Ay

N
o

il

N
W

LIRS IENS ES ESNESI ST N Y Y ) )

—_
s

(4 o) off £

Sl gl s gl -

S (1) B (2) A Slalea) L (9) 2hlly (14) ol £ke a2l (e sl 3 g0 2) penl] el i ol
S in el (5) inndl el e ) S (B S0 (1) 2l ol B e (3) dondl ol aeny 3 .(A
2kl el g il sjall i (4) ginna) asiall ) Qi ol g (D) SN qanall ISl e (6) aniel ol qun (C 1) gl
S T gl i ol S5 14 (G Sl B i g i (F SE0) el skl ) oo (B JSE0) il By
A axid Jid 3papdl il g sl el B sagnsdl sl

) Lllsal g0 pailas ¢

(1 ISl Y gl nlae) o I ) sga (ging (H Q) il sl i) sl g il (Lo s3gmsall 301 (o
sl aga el sy g3 pngll K IS8 ey (] JS8) anlia) (KL IV il Samsall gl ol (B Aoy yuidl
8 0 s ltal) e Mgy condidl phal) & PIa e el ajal e eJilall el L S peinge g8 WS il ol el
asall puadll Lejal Lo 5agmpal REEIU pualil) poiid eima (S0 Jilll el a0 IS 3 LY ol Ll (M <)

S S (g (b (onnss YY) i -

DS e i ) i 1 e ol ) il ) o) 8 gl ) il i L Al sge i e
(11) el phasauls (3) Ausnd ol e oISe (3 (10) Lusedl Jabyll Jayly BV 38 el say LS 3 Aulel) ) 5 i€
il el (s of o (N ) (14) ) ey (7) (gl (12) Bicall Al ol plasinly 8 s oY) SR Y0 i
s P Sl gy Ly Sl sl ol qngl O S8 gy a6 e il s oy BB sl
bl g 0 ) 8 AU Y e e S e g s s M (g Sl s il e AKOL LT sl
SV A gl S i o(14) Bl iy (8) jlassally (13) Bl Al plasisly . (nhal) € Jinaadl 0 (580 il sl
el Ul B guage (10) dsseadl Ja of e KB P5 O Gul€all f rage s WS e IS A a e KB e (R US20) 8
Y 293 ) ) sl § KA gy

12



Ciiilly Libuall -4

el ¢ guadl 32€ A B3 30 2o o) '
A Ed

Y] jai padid Y

= | B

i (b o Alae o Bty el 5L Al plasialy Aty Bineall V) i Gy sy SUY)
Al -y
LY sl e Tisms AS Sad) aiial o pndly S

VI sy
31 g5l I3 e chacall ASaly Ty 32 JWS e ¢ 3BY) (S WWWKINDERKRAFT.COM

CS

VAZENY ZAKAZNIKU!
Dékujeme za zakoupeni vyrobku znacky Kinderkraft.
Tvofime vyrobky pro vae dité — dbdme vidy na bezpecnost a kvalitu a zajistujeme tak pohodli toho nejlepsiho vybéru.

DULEZITE! PONECHTE SI NAVOD PRO POZDEJSi POTREBU!

POZADAVKY V OBLASTI BEZPECNOSTI A PREVENTIVNi OPATRENI
UPOZORNENI!

Tyka se lehatka:
Nikdy neponechavejte dité bez dohledu.
Nepoutzivejte lehatko, pokud si Vase dité umi
samo sednout.
Lehatko neni urceno na dlouhé spani.
Umisténi lehatka ve vySce, napf. na stul, je
nebezpecné.
Vidy pouiivejte systém zapinani.
Lehdtko je uréeno pro déti od narozeni do maximalni hmotnosti 9 kg.
Lehdtko nenahrazuje postylku nebo postel. Pokud dité potfebuje spat,
mélo by byt umisténo do vhodné détské postylky nebo postele.

Tyka se Zidlicky FINI ve spojeni houpacimi liZinami:

13


http://www.kinderkraft.com/

Vyrobek umistény pod oknem mize dité pouZit jako

schiidek a zptsobit, Ze dité vypadne z okna.

Tento vyrobek je urcen pro déti ve véku od 24 do 60

mésict, s hmotnosti do 20 kg.

NepouZivejte vyrobek, pokud jsou jakékoli jeho dily

poskozeny nebo chybi.

Nepouzivejte jiné pfislusenstvi nebo nahradni dily, nez doporucované
vyrobcem.

Aby nedoslo béhem skladani nebo rozkladani vyroku ke zranéni, ujistéte
se, Ze se v blizkosti nenachdzeji déti.

Neposouvejte ani nezvedejte vyrobek, pokud je v ném umisténo dité.
Vénujte pozornost riziku otevieného ohné a jinym zdrojlm tepla.

1. SEZNAM PRVKU
Prvek Mnoistvi

1. Liziny 2
2. Plastova podpéra (leva a prava) 2
3. Kovova ty¢ spojujici liziny 2
4, Kovovy ram sedadla 1
5. Kovovy ram opéradla 1
6. Potah sedadla s bezpecnostnimi pasy 1
7. Sroub M8x65 mm 2
8. Sroub M8x85 mm 2
9. Sroub M6x34 mm 4
10. Kovové zaslepky 4
11 Sroub M4x15 mm 4
12. Mala distancni objimka 2
13. Velka distancni objimka 2
14. Imbusovy lic (velikost 4) 1

Il. MONTAZ LEHATKA

K montaZi budete potiebovat kiizovy Sroubovak (neni soucasti dodévky).

Pomoci klice (14) a $roubti (9) pfipevnéte plastové podpéry (2) k lizindm (1) (OBR. A). Kovové tyce (3) namontujte do
lizin pomoci $roubd (11) (OBR. B). Zasurite kovovy ram opéradla (5) do podpér, dokud se zapadky nezajisti (OBR. C). Na
namontovany rdm opéradla nasurite potah (6) (OBR.D). Nasledné zasunte kovovy ram sedadla (4) do dolni ¢asti potahu
a zapnéte zip (OBR. E). Rdm sedadla zasurite do podpér (OBR. F) dokud neuslysite charakteristické cvaknuti (OBR. G).
POZOR! Pamatujte, Ze kovové zapadky rdmu musi byt umistény pevné v otvorech podpér. Nakonec napnéte pas pod
sedadlem.

1ll. FUNKCE LEHATKA

Pro nastaveni naklonu stisknéte tlacitka na stranach lehatka (OBR. H). Lehdtko ma dvé polohy naklonu (OBR. I). Pro
zménu funkce lizin otocte néleZité nozicky, které se nachazeji pod lizinami (OBR. J). Obrazek K znazorfiuje nozicky v
poloze umoznujici houpani. Za Ucelem zablokovani funkce houpani otocte nozicky do polohy znazornéné na obrazku L.
Pro zajisténi ditéte protahnéte bederni pasy pres otvor mezinozniho pasu a nasledné spojte Uchyty spony, aby se
zacvakly (OBR.M). Bezpecnostni pasy nastavte pokazdé, aby bylo dité radné zajisténo. Nastaveni se provadi pomoci
plastovych prvkd umisténych na bedernich pasech.

14



IV. MONTAZ LIZIN K ZIDLIECE KINDERKRAFT FINI

Demontuijte vSechny prvky lehatka FINIO v opaéném poradi, nez je uvedeno v kapitole II. Na Zidlicce Kinderkraft FINI
odsroubujte dolni prvky nohou, nechte namontované horni prvky nohou a stupacek. Nasledné vezméte liziny a v
mistech montdZe kovovych tyi (3) prichytte kovové zaslepky (9) pomoci Sroubd (11). Za pouziti malé objimky (12),
Sroubu (7) a klice (14) pfipevnéte lizinu k pfedni noze Zidlicky FINI (OBR. N). Zakfiveny povrch objimky by se mél dotykat
liziny, plochy povrch nohou Zidlicky FINI. POZOR! Obr. O ukazuje spravné umisténi plastovych objimek, zatimco obr. F
upozorfiuje na umisténi a zakfiveni objimek (plastové objimky maji stény, které se mirné lisi vyskou, takze pfi nespravné
montdZi budou nohy kfesla nespravné naklonény a montdz sedadla bude nemozna. Pomoci velké objimky (13), Sroubu
(8) a klice (14) pfipevnéte zarazky na zadni nohy kfesla FINI (obr. R), pficem? dbejte na spravnou montaz objimky, jak je
zndzornéno na obrazcich O a P.Ujistéte se, Ze se kovové zaslepky (9) nachdzeji na vnitini strané Zidlicky. Na obrazku S je
znazornéna spravné smontovana Zidlicka FINI s lizinami.

V. Udriba a &isténi

Pratv teploté do 30°C na jemné prani. Nebélit

Nesusit v susicce & Nezehlit

Necistit chemicky

X k= I3

Ram a liziny: kovové a dievéné Casti Cistéte mékkym, Cisty, a navihéenym hadrikem a jemnym mydlem.

VI. Uchovavani
Vyrobek a jeho volné dily uchovavejte mimo dosah déti.

VII. ZARUKA
Uplny obsah zaruénich podminek je k dispozici na webowych strankach WWW KINDERKRAFT.COM

DE

SEHR GEEHRTER KUNDE!
Wir bedanken uns fiir Einkauf eines Produkts der Marke Kinderkraft.
Wir schaffen im Gedanken an Ihr Kind — immer sorgen wir fiir Sicherheit und Qualitat und bieten somit den Komfort
einer optimalen Wahl an.

WICHTIG! ZUM SPATEREN GEBRAUCH AUFBEWAHREN

Sicherheitshinweise und VorsichtsmaRnahmen

Warnung!
Betrifft den Kinderliegesitz:
¢ Das Kind nie unbeaufsichtigt lassen. . ® >
¢ DenKinderliegesitz nicht verwenden wenn y;'1 .
das Kind selbsténdig aufrecht sitzen kann. | #% C

15


http://www.kinderkraft.com/

Den Kinderliegesitz ist nicht fiir langere Schlafzeiten geeignet.

Den Kinderliegesitz nicht auf eine Erhdhung z.B. einen Tisch stellen,
Fallgefahr.

Immer das Riickhaltesystem benutzen.

Der Kinderliegesitz kann von der Geburt des Kindes bis zu einem
Gewicht von 9 kg verwendet werden.

Der Kinderliegesitz ersetzt kein Kinder- oder normales Bett. Wenn das
Kind den Schlaf braucht, soll es in ein Kinder- oder normales Bett gelegt
werden.

Betrifft den Kinderstuhl FINI mit Kufen:

Wenn der Stuhl unter einem Fenster steht, kann das

Kind ihn als Treppenstufe nutzen, was mit einem

Sturz aus dem Fenster droht.

Dieses Produkt ist fiir Kinder von 24 bis 60 Monaten,

die bis zu 20 kg wiegen und selbstindig aufrecht sitzen kdnnen,
geeignet.

Das Produkt nicht verwenden, wenn irgendwelche Elemente beschadigt
sind oder fehlen.

Nur die vom Hersteller empfohlenen Zubehor- und Ersatzteile
verwenden.

Um Verletzungen beim Ein- und Ausklappen des Produkts zu vermeiden,
sicherstellen, dass es keine Kinder in der Nahe gibt.

Das Produkt nicht verschieben oder heben wenn sich das Kind darin
befindet.

Auf Quellen offener Flammen und andere Warmequellen achten.

|. VERZEICHNIS DER TEILE

Teil Zahl

Kufen 2

Kunststoffhalterung (links und rechts)

Metallverbindungsstange fiir Kufen

Metallrahmen der Sitzfldche

Metallrahmen der Riickenlehne

Sitzbezug mit Sicherheitsgurten

Schraube M8x65 mm

Schraube M8x85 mm

Schraube M6x34 mm

Metallblindstopfen

[ 1= e e Bl il e Bl B e

Ll d
ENFNEN DN TN P P P N1 [N

Schraube M4x15 mm

16



12. Kleine Distanzhiilse 2
13. GroRe Distanzhillse 2

14. Inbusschlissel (GroRe 4) 1

Il. MONTAGE DES KINDERLIEGESITZES

Zur Montage ist ein Kreuzschlitzschraubendreher nétig (nicht im Lieferumfang enthalten). Mit Hilfe des Schliissels (14)
und der Schrauben (9) Halterungen (2) an den Kufen (1) befestigen (Abb. A). Metallstabe (3) an den Kufen mit den
Schrauben (11) befestigen (Abb. B). Den Metallrahmen der Riickenlehne (5) in die Halterungen einschieben bis die
Driickknépfe einrasten (Abb. C). 4. Auf den befestigen Rahmen den Sitzbezug (6) aufziehen (Abb. D). AnschlieBend den
Metallrahmen der Sitzflache (4) in das untere Teil des Bezugs schieben und den ReiRverschluss schlieRen (Abb. E). Den
Sitzfldchenrahmen in die Halterungen einschieben (Abb. F) bis ein charakteristischer Klick zu horen st (Abb. G). Achtung!
Achten darauf, dass die Driickknopfe des Rahmens fest in den Halterungsffnungen sitzen. Zum Schluss den Gurt unter
dem Sitz festziehen.

11l FUNKTIONEN DES KINDERLIEGESITZES

Die Kndpfe an beiden Seiten des Kinderliegesitzes driicken um die Neigung einzustellen (Abb. H). Der Kinderliegesitz hat
zwei Neigungspositionen (Abb. 1). Um die Funktion der Kufen zu &ndern, sind die FiRe unter den Kufen entsprechend
umzudrehen (Abb. J). Die Abbildung K zeigt die FiiRe in der Schaukelposition. Um die Schaukelfunktion zu blockieren,
sind die FiiBe in die Position aus der Abbildung L zu drehen. Um das Kind zu schiitzen, sind die Beckengurte durch die
Offnung des Zwischenbeingurts zu ziehen und dann die Schlosszungen zusammenzufiihren, damit sie im Gurtschloss
einrasten (Abb. M). Die Sicherheitsgurte sind jedes Mal einzustellen, damit das Kind rechtmaRig gesichert bleibt. Die
Einstellung erfolgt mit Hilfe der Kunststoffteile auf Beckengurten.

IV MONTAGE DER KUFEN ZUM KINDERSTUHL KINDERKRAFT FINI

Alle Teile des Kinderliegesitzes FINIO in umgekehrter Reihenfolge zu der im Kapitel Il beschriebenen demontieren. Beim
Kinderstuhl FINI untere Beinelemente herausdrehen und obere Beinelemente sowie die FuBstiitze zuriicklassen. Dann
die Kufen nehmen und am Montageort der Metallstibe (3) Metallblindstopfen (10) mit Hilfe der Schrauben (11)
anbringen. Mit Hilfe der kleinen Distanzhilse (12), der Schraube (7) und des Inbusschliissels (14) die Kufe am Vorderbein
des Kinderstuhls FINI befestigen (Abb. N). Die gewélbte Hilsenflache soll die Kufe und die glatte Fldche die Stuhlbeine
beriihren. VORSICHT! Abb. O zeigt die korrekte Positionierung der Kunststoffhiilsen, wéhrend in Abb. P wurde auf Lage
und Kriimmungsradius der Hiilsen geachtet (Kunststoffhiilsen haben leicht unterschiedlich hohe Wénde, so dass bei
falscher Montage die Stuhlbeine nicht richtig ausgelenkt werden konnen und der Sitz nicht montiert werden kann). Mit
einer groRen Hiilse (13), Schraube (8) und Schliissel (14) befestigen Sie die Kufen an den hinteren Beinen des FINI-Stuhls
(ABB. R), und achten Sie dabei auf den korrekten Einbau der Hilsen, nach den Abbildungen O und P.Sicherstellen, dass
sich die Metallblindstopfen (10) an der Innerseite des Stuhls befinden. Die Abbildung S zeigt einen richtig montierten
FINI Stuhl mit Kufen.

V. WARTUNG UND REINIGUNG

Bei max. 30 °C waschen, chongang. Nicht bleichen.

Nicht im Trommeltrockner trocknen. & Nicht biigeln.

)| I3

Nicht chemisch reinigen.

Rahmen und Kufen: Metall- und Holzteile sind mit einem weichen und feuchten Tuch und einer milden Seife zu reinigen.

VI. AUFBEWAHRUNG
Das Produkt und dessen lose Teile an einem fiir Kinder unzuganglichen Ort aufbewahren.

17



VIl. GARANTIE
Der vollsténdige Text der Garantiebedingungen ist unter WWW.KINDERKRAFT.COM verfiigbar.

EN

Dear customer!

Thank you for purchasing a Kinderkraft product. Our products are made with your child in mind - we always guarantee
safety and quality to ensure the comfort of the best choice.

IMPORTANT! KEEP FOR FUTURE REFERENCE.
REMARKS ON SAFETY AND PRECAUTIONS

WARNING!
For the reclined cradle: o >
. Never leave the child unattended. -

Do not use the reclined cradle once your ok 1 -(

child can sit unaided. n

This reclined cradle is not intended for

prolonged periods of sleeping.

It is dangerous to use this reclined cradle on an elevated surface, e.g. a
table.

Always use the restraint system.

The reclined cradle is intended for newborns, up to the maximum weight
of 9 kg.

This reclined cradle does not replace a cot or a bed. Should your child
need to sleep, then it should be placed in a suitable cot or bed.

For the FINI chair with connected skids:
If the product is placed under a window, the child
can use it as a step and fall out.
This product is intended for children aged 24 to 60
months, up to 20 kg body weight, who are able to
sit unaided.
Do not use the product if any parts are broken or missing.
Do not use accessories or replacement parts not approved by the
manufacturer.
In order to avoid injury during folding and unfolding of the product,
make sure there are no children nearby.
Do not move or carry the product when the child is inside.
18


http://www.kinderkraft.com/

. Beware of risks when using open flame or other sources of heat.

1. LIST OF COMPONENTS
Comp Quantity
1. Skids 2
2. Plastic support (left and right) 2
3. Metal rod connecting the skids 2
4. Metal seat frame 1
5. Metal backrest frame 1
6. Seat cover with restraints 1
7. M8x65 mm bolt 2
8. M8x85 mm bolt 2
9. M6x34 mm bolt 4
10. Metal stoppers 4
11. M4x15 mm bolt 4
12. Small spacer sleeve 2
13. Large spacer sleeve 2
14. Allen wrench (size 4) 1

II. RECLINED CRADLE ASSEMBLY

APhillips screwdriver will be used for the assembly (not included in the set). Use the wrench (14) and bolts (9) to fasten
the plastic supports (2) to the skids (1) (FIG. A). Assemble the metal rods (3) to the skids using bolts (11) (FIG. B). Insert
the metal backrest frame (5) into the supports until latches engage (FIG. C). Place the seat cover (6) on the assembled
frame (FIG. D). Next, introduce the metal seat frame (4) into the bottom part of the seat cover and fasten the latch (FIG.
E). Slide the seat frame into the supports (FIG. F) until you hear a clicking sound (FIG. G). CAUTION! Remember to place
the frame latches securely in the holes in the supports. Finally, tighten the belt under the seat.

1Il. RECLINED CRADLE FUNCTIONS

Press the buttons on the sides of the reclined cradle to adjust inclination (FIG. H). The reclined cradle features two
reclined position settings (FIG. 1). To change the function of the skids, turn the legs under the skids as appropriate (FIG.
J). Fig. K shows the lets in position allowing to rock the cradle. In order to prevent the rocking, turn the legs as indicated
on Fig. L. In order to secure the baby, thread the lap pelts through the crotch strap hole and connect the buckle latches
until locked (FIG. M). Adjust the safety harness each time to properly secure the baby. Use the plastic elements on the
lap belts for adjustment.

IV. ATTACHING SKIDS TO KINDERKRAFT FINI CHAIR

Disassemble all the components of FINIO reclined cradle, following the stages as provided in chapter Il in reverse order.
Unfasten the bottom leg components of the Kinderkraft FINI chair, leaving the upper legs and the leg rest in place. Next,
take the skids and in the place of assembly of the metal rods (3) attach the metal stoppers (10) using bolts (11). Use the
small spacer sleeve (12), bolt (7) and wrench (14) attach the skid to the front leg of the FINI chair (FIG. N). The crooked
surface of the sleeve should touch the skid, the flat side should touch the FINI chair leg. NOTE: FIGURE O shows the
correct position of the plastic sleeves, while FIGURE P shows the position and curvature of the sleeves (the plastic
sleeves have sides that slightly differ in height, so that incorrectly installed will cause the chair legs to tilt from their
correct vertical position and thus it will be impossible to install the seat. Using a large sleeve (13), a screw (8) and a
wrench (14), attach the skids to the back legs of the FINI chair (Fig. R), ensuring correct installation of the sleeve, as
shown in Figures O and P.Make sure that the metal stoppers are (10) placed on the inside of the chair. Fig. S shows a
correctly assembled FINI chair with skids.

V. Mai e and cleaning
Wash at max. 30°C, gentle process. ﬁ Do not bleach

19




Do not dry clean

K =
E Do not dry in a tumble dryer E Do notiron
I

Frame and skids: Metal and wooden parts should be cleaned with a soft, clean or damp cloth with mild soap.

VI. Storage
Keep the product together with its loose parts away from children.

VII. WARRANTY
The full text of the Terms and Conditions of the Warranty is available on the website WWW_.KINDERKRAFT.COM

ES

iESTIMADO CLIENTE!
Gracias por comprar el producto de marca Kinderkraft.
Disefiamos pensando en su hijo, siempre nos preocupamos por la seguridad, la calidad y garantizamos la maxima
comodidad.

iIMPORTANTE! CONSERVAR PARA USO FUTURO.

OBSERVACIONES RELATIVAS A LA SEGURIDAD Y MEDIOS DE PRECAUCION
jAVvISO!

Se refiere a la hamaca para bebé:
No deje nunca al nifio sin cuidado.
No deje la hamaca de bebé cuando su nifio
puede sentarse por si mismo.
La hamaca para bebé no esta destinada
para largo periodo de dormir.
Si colocamos la hamaca para bebé mas arriba, por ejemplo, en la cama,
provocamos peligro.
Siempre use el sistema de cierres.
La hamaca para bebé esta destinada para nifios ya desde el nacimiento
hasta el peso maximo de 9 kg.
La hamaca de bebé no puede sustituir la cama ni la cuna. Si el nifio
necesita dormir, debe ser colocado en la respectiva cuna o cama
adecuada.

Se refiere a la trona FINI dotada de patines:

20


http://www.kinderkraft.com/

El producto colocado por debajo de la ventana puede

ser usado por el nifio como peldafio y hacer que se

asome y se caiga de la ventana.

Este producto esta destinado para nifios entre 24 y 60

meses con peso de hasta 20 kg que es capaz de estar

sentado por si mismo.

No debe el producto cuando cualquiera de sus elementos esta dafiado o
falta.

No debe usar accesorios ni partes de recambio diferentes que las
recomendadas por el fabricante.

Para evitar lesiones a la hora de montar y desmontar el producto,
aseglrese de que los nifios no se encuentran cerca.

No mueva ni levante el producto con el nifio dentro.

Debe tener cuidado con el riesgo de fuego abierto y con las demas
fuentes de calor.

|. LISTA DE ELEMENTOS
Elemento Cantidad
1. Patines 2
2. Soporte de plastico (izquierdo y derecho) 2
3. Varilla de metal que une los patines 2
[3 Cuadro de asiento de metal 1
5. Cuadro de apoyo de metal 1
6. Revestimiento de asiento junto con los cinturones de seguridad 1
7. Tornillo M8x65 mm 2
8. Tornillo M8x85 mm 2
9. Tornillo M6x34 mm 4
10. Tapones de metal 4
11. Tornillo M4x15 mm 4
12. Casquillo distanciador pequefio 2
13. Casquillo distanciador grande 2
14. Llave alén (tamafio 4) 1

Il. MONTAJE DE HAMACA DE BEBE

Para montar necesitaremos un destornillador (no forma parte del juego). Por medio de la llave (14) y de los tornillos (9),
fije los soportes de plastico (2) a los patines (1) (FIG. A). Monta las varillas de metal (3) a los patines por medio de
tornillos (11) (FIG. B). Introduzca el cuadro de apoyo de metal (5) en los soportes hasta el momento en que funcionen
los cierres automaticos (FIG. C). En el cuadro de apoyo montado ponga el revestimiento (6) (FIG. D). Luego, ponga el
cuadro de asiento de metal (4) en la parte inferior y cierre la cremallera (FIG.E). Ponga el cuadro de asiento en los
soportes (FIG. F) hasta el momento de oir un clique caracteristico (FIG. G). iNOTA! Recuerde que los cierres de metal
del cuadro estén colocados firmemente en los agujeros de los soportes. Finalmente, apretar el cinturon debajo del
asiento.

1ll. FUNCIONES DE LA HAMACA PARA BEBE

Apriete los botones a los lados de la hamaca para ajustar la inclinacion (FIG. H). La hamaca para bebé tiene dos

posiciones de inclinacion (FIG. I). Para cambiar de la funcion de patines se debe girar respectivamente los pies que se

encuentran por debajo de los patines (FIG. J). La Figura K demuestra los pies en la posicion que permite el balanceo.
21



Para bloguear la funcién de balanceo se debe girar los pies a la posicion demostrada en la figura L. Para proteger al nifio
se debe pasar los cinturones de cadera por el orificio del cinturdn de entrepierna y, luego, unir los cierres de la hebilla
hasta que cierre automaticamente (FIG. M). El arnés de seguridad debes ajustar cada vez que uses para que el nifio esté
protegido adecuadamente. El ajuste se realiza por medio de elementos de plastico colocados en los cinturones de
cadera.

IV. MONTAJE DE PATINES A LA TRONA KINDERKRAFT FINI

Desmonte todos los elementos de la hamaca para bebés FINIO en orden inverso al presentado en el capitulo Il. En la
trona Kinderkraft FINI se debe destornillar los elementos de los pies y dejar montados los elementos superiores de pies
y el escabel. Luego, coja los patines y en los lugares de montaje de varillas de metal (3), ajuste los tapones de metal (10)
por medio de tornillos (11). Con el uso del casquillo pequefio (12), el tornillo (7) y la llave (14) fije el patin en el pie
delantero de la trona FINI (FIG. N). La superficie de casquillo curvada debe tocar el patin, la superficie plana de los pies
debe tocar la trona FINI. NOTA: La FIGURA O muestra la posicion correcta de las mangas de plastico, mientras que la
FIGURA P muestra la posicion y curvatura de las mangas (las mangas de pléstico tienen bordes que difieren ligeramente
en altura, de modo que si se instalan incorrectamente, las patas de la silla se inclinaran desde su posicion vertical
correcta y, por lo tanto, sera imposible instalar el asiento. Con una manga grande (13), un tornillo (8) y una llave (14),
fije los patines a las patas traseras de la silla FINI (Fig. R), asegurandose de que la instalacion de la manga sea correcta,
tal como se muestra en las Figuras O y P. Aseglrese de que los tapones de metal (10) se encuentran al lado interno de
la trona. En la figura S podemos ver la trona FINI con los patines correctamente montados.

V. Mantenimiento y i

Lavar a temperatura méx. de 30°C, proceso

suave. No usar blanqueador

No secar en secadora & No planchar

No lavar en seco

() 1) I8

Cuadro y patines: Se debe limpiar las partes de metal y de madera con un trapo blando, limpio y humedecido y con
jabon suave.

VI. Almacenamiento
Mantener el producto y sus partes sueltas en lugar sin acceso de nifios.

VIl GARANTIA
El texto completo de las condiciones de garantia esta disponible en WWW.KINDERKRAFT.COM

FR

CHER CLIENT !
Nous vous remercions pour votre achat d’un produit Kinderkraft.
Nous concevons les produits pour le bien-étre de votre enfant — nous veillons a la sécurité et a la
qualité pour que vous soyez sir d'avoir fait le meilleur choix.

IMPORTANT ! CONSERVER POUR UN USAGE ULTERIEUR

CONSIGNES DE SECURITE ET D’ENTRETIEN
AVERTISSEMENT!

22


http://www.kinderkraft.com/

Concerne le transat bébé :

Ne laissez jamais I'enfant sans surveillance. . ® >
. T4 N ’

N’utilisez plus le transat bébé dés que votre N4 1 o

enfant peut se tenir assis seul. " C

Ce transat n’est pas congu pour y dormir
pendant longtemps.

Il est dangereux d'utiliser ce transat posé sur une surface élevée, par
exemple une table, risque de chute.

Toujours utilisez le systéme de retenue.

Ce produit convient aux enfants dés la naissance jusqu’a 9 kg.

Ce produit ne remplace pas un lit bébé ou un lit normal. Pour dormir
I'enfant doit étre mis dans un lit bébé ou un lit normal.

Concerne la chaise haute FINI avec patins :

Si le produit est placé sous une fenétre, I'enfant peut

I'utiliser comme une marche, ce qui engendre un

risque de chute par la fenétre.

Ce produit est congu pour les enfants de 24 a 60

mois, pesant jusqu’a 20 kg, capables de se tenir assis seuls.

N’utilisez pas le produit si I'une des piéces est cassée ou manquante.
N'utilisez pas des accessoires ou des pieces de rechange autres que
celles approuvées par le fabricant.

Tenez les enfants éloignés lors du pliage et dépliage du produit pour
éviter des blessures.

Ne déplacez pas ou ne levez pas le produit avec un enfant dedans.

Ne placez pas le produit pres d’une flamme nue ou d’autres sources de
chaleur.

I, LISTE DES ELEMENTS

Elément Quantité

Patins 2

Support en plastique (gauche et droit)

Barre métallique reliant les patins

Cadre métallique du siege

Cadre métallique du dossier

Housse de siege avec le harnais de sécurité

Vis M8x65 mm

Vis M8x85 mm

bd d Bl Sl Bl Bl Ead End ol
FNI[N] FNT o PR PR TN

Vis M6x34 mm

23



10. Bouchons obturateurs métalliques 4
11. Vis M4x15 mm 4
12. Petite entretoise 2
13. Grande entretoise 2
14. Clé Allen (taille 4) 1

Il. MONTAGE DU TRANSAT BEBE

Pour le montage vous aurez besoin d’un tournevis cruciforme (n’est pas fourni). Avec la clé Allen (14) et les vis (9) fixez
les supports en plastique aux patins (fig. A). Reliez les barres métalliques (3) aux patins avec les vis (11) (fig. C). Insérez
le cadre métallique du dossier dans les supports jusqu’a ce que les loquets s'enclenchent (fig. C). Mettez la housse (6)
sur le cadre du dossier (fig. D). Ensuite glissez le cadre métallique du siége dans la partie inférieure de la housse et
fermez la fermeture-éclair (fig. E). Insérez le cadre du siége dans les supports (fig. F) jusqu’a ce que vous entendiez un
clic. ATTENTION ! Vérifiez que les loquets métalliques sont bien placés dans les fentes des supports (fig. G).

1Il. FONCTIONS DU TRANSAT

Appuyer sur les buttons de deux c6tés du transat pour ajuster I'inclinaison du dossier (fig. H). Le transat dispose de deux
positions du dossier (fig. I). Pour changer de fonction des patins, tournez les pieds sous les patins (fig. J). La fig. K montre
la position des pieds permettant le bercement, pour bloguer cette fonction placez les pieds dans la position de la fig. L.
Pour protéger le bébé, tirez les sangles abdominales a travers I'ouverture de la sangle d’entrejambe et reliez les
languettes de verrouillage pour fermer la boucle de harnais (fig. M). Ajustez le harnais a chaque utilisation pour assurer
la sécurité de I'enfant. L'ajustement se fait a I'aide des éléments en plastique sur les sangles abdominales.

IV. MONTAGE DES PATINS SUR LA CHAISE HAUTE KINDERKRAFT FINI

Démontez tous les éléments du transat bébé FINIO dans I'ordre inverse a celui du chapitre Il. Dévissez les parties
inferieures des jambes sur la chaise haute Kinderkraft FINI et laissez les parties supérieures ainsi que le repose-pied.
Ensuite prenez les patins et fixez les bouchons obturateurs métalliques (10) a I'aide des vis (11). A I'aide de la petite
entretoise (12), de vis (7) et de la clé » Allen (14) reliez le patin au pied avant de la chaise haute FINI (fig. N). La surface
courbée de I'entretoise doit toucher le patin, alors que la surface plate doit toucher les pieds de la chaise FINI. NOTE:
La FIGURE O montre la position correcte des manchons en plastique, tandis que la FIGURE P montre la position et la
courbure des manchons (les manchons en plastique ont des bords qui différent légérement en hauteur, donc s'ils sont
mal installés, les pieds du fauteuil s'inclineront de leur position verticale correcte et il sera donc impossible d'installer
le siege. Utilisant un grand manchon (13), une vis (8) et une clé (14), fixer les pieds aux pieds arriere de la chaise FINI
(Fig. R), en s'assurant que le manchon est correctement installé, comme indiqué sur les Fig. O et P.Vérifiez que les vis
(10) installées précédemment se trouvent a l'intérieur du patin. La fig. S présente une chaise FINI correctement montée
avec les patins.

V. ENTRETIEN ET NETTOYAGE

Laver a la température de 30°C P
maximum, programme doux. ﬁ Ne pas javelliser

Ne pas sécher en machine & Ne pas repasser

Ne pas nettoyer a sec

RR I

Cadre et patins : Nettoyer les parties en métal et en bois avec un chiffon doux, propre et humide et un savon doux.

V1. STOCKAGE
Tenir le produit hors de portée des enfants.

VII. GARANTIE
24




Le texte complet des conditions de la garantie est disponible sur le site W\WW.KINDERKRAFT.COM

HU

TISZTELT UGYFELUNK!
Koszonjuk, hogy a Kinderkraft markaju terméket vasarolt!
Az On gyermekét szem eltt tartva alkotunk, mindig iigyeliink a biztonsagra és a mindségre, biztositva ezzel a legjobb
valasztas kényelmét.

FONTOS! ORIZD MEG KESOBBI FELHASZNALASRA.

BIZTONSAGRA ES OVATOSSAGI ESZKOZOKRE VONATKOZO MEGJEGYZESEK
FIGYELMEZTETES!

A pihendszékre vonatkozdan:

Soha ne hagyd a gyermeket 6rizet nélkiil.

Ne haszndld a pihendszéket, ameddig a % >
Me

-,

gyermeked még nem tud 6nalléan ilni. oK
A pihendszék rendeltetése szerint nem szolgal | &%
hosszu ideig tart6 alvasra.
A pihendszék magaslatra (pl. asztalra) valé helyezése veszélyhelyzetet
teremt.

Mindig alkalmazd a biztonsagi ov rendszert.

A pihendszék rendeltetése szerint a gyermek sziiletésétdl legfeljebb 9 kg
suly eléréséig hasznalhato.

A pihendszék nem helyettesiti a gyerekagyat vagy dgyat. Ha a
gyermeknek alvdsra van sziiksége, akkor at kell Gt helyezni a megfelel6
gyerekagyba vagy agyba.

Talpakkal ellatott FINI székre vonatkozéan:
. Az ablak alatt elhelyezett terméket a gyermek
Iépcsofokként hasznalhatja és ez a gyermek ablakbol
valo kieséséhez vezethet.
Ez a termék 24 és 60 honapos gyermekek szamara
késziilt, 20 kg testsulyig, akik mar 6nalléan tudnak iilni.
A terméket nem szabad hasznalni, ha annak barmely eleme sériilt vagy
hianyzik.
Nem szabad semmilyen tartozékot vagy alkatrészt hasznalni a gyarto
altal ajanlottakon kiviil.
A termék Osszeszerelése és szétszerelése soran a balesetek elkeriilése
25


http://www.kinderkraft.com/

végett (igyelj arra, hogy gyermekek ne legyenek a kézelben.

Ne told arrébb vagy ne emeld fel a terméket, a benne (il6 gyermekkel
egyutt.

Vigyazni kell a nyilt Iang és egyéb héforras okozta veszélyekre.

1. ELEMEK LISTAJA

Elem Mennyiség
Talpak 2
Miianyag tdmasztd elem (bal és jobb)

A talpakat dsszekotd fém rad

Az il6ke fém kerete

Atamla fém kerete

Az Uil6ke boritdsa a biztonsagi dvekkel egyitt
Csavar M8x65 mm

Csavar M8x85 mm

Csavar M6x34 mm

10. Fém takardelemek

11 Csavar M4x15 mm

12. Kis tavtartd hiively

13. Nagy tavtarto hively

14. Imbuszkulcs (4-es méret)

R d Bl Gl e Bl Ead Ead

LN DN N N NN PN PR PR PR PN NS

II. PIHENGSZEK SZERELESE

A szereléshez szikség lesz keresztnyllasu csavarhlizora (nem tartozik a készlethez). A csavarhiizd (14) és a csavarok
segitségével (9), rogzitsd a mlianyag témasztd elemeket (2) a talpakhoz (1) (A. ABRA). A fém rudakat (3) szereld a
talpakhoz a csavarok segitségével (11) (B. ABRA). Cstisztasd be a tamla fém keretét (5) a timaszt6 elemekbe a reteszek
bekapcsolodasét jelz6 kattanasig (C. ABRA). 4. Az Gsszeszerelt tamlakeretre hizd ra a boritést (6) (D. ABRA). Ezt
kovetden told be az ilés fémkeretét (4) a borités alsé részébe és hiizd be a villimzarat (E. ABRA). Az tilés keretét told
be a tamasztéelemekbe (F. ABRA) a reteszek bekapcsoldasat jelzG kattanasig (G. ABRA). FIGYELEM! Figyelj arra, hogy
a keret fém reteszei biztosan helyezkedjenek be a tdmasztdelemek nyilasaiba. Végiil huzza meg az dvet az Ulés alatt.

1Il. A PIHENGSZEK FUNKCIOI

Nyomd be a pihendszék oldalain lév gombokat, a déntési szog bedllitasahoz (H. ABRA). A pihendszék két dontési
poziciéval rendelkezik (1. ABRA). A talpak funkcidjanak modositisahoz megfelelGen el kell forditani a talpak alatt
talalhatd labakat (J. ABRA). AK. abra mutatja a talpaknak a hintazést lehet6veé tevé allapotat. A hintézasi funkcid lezarasa
céljdbol, a labakata L. dbran bemutatott pozicioba kell elforditani. A gyermek biztonsaga érdekében a derékévet at kell
hizni a labak kozotti 6v nyildsan, majd Gsszetolni a csatokat, a reteszek bekattanasaig. (M. ABRA). A biztonsagi Gveket
minden alkalommal be kell dllitani, hogy a gyermek megfelelGen biztositva legyen. A bedllitas a derékovon elhelyezett
mianyag elemek segitségével torténik.

IV. TALPAK SZERELESE A KINDERKRAFT FINI SZEKHEZ

Szereld szét a FINIO pihenc’iszék minden elemét a Il. fejezetben bemutatott sorrend fordl'tottjaként, A Kinderkraft FINI
pihendszéken ki kell csavarni a ldbak also elemeit, osszeszerelve hagyva a labak felsG elemeit és a ldbtartokat. Ezutan
fogd a talpakat és a fém rudak szerelési helyeire (3), régzitsd a fém takarelemeket (10) a csavarokkal (11). A kis hivelyet
(12), csavarokat (7) és kulcsot(14) hasznalva rogzitsd a talpat a FINI szék elss labahoz (N. ABRA). A hiively gorbnett
feliiletének a talphoz kell érnie, a lapos feliiletének pedig a FINI szék labaihoz. FIGYELEM! A O. RAJZON a mianyag
perselyek megfelel elhelyezkedése, a P. RAJZON pedig a hiively helyzete és gorbilete lathatd (a mianyag perselyek
falakkal vannak ellatva, melyek eltér6 magassaguak, igy helytelen rogzités eseytén a szék labainak délésszoge nem
megfeleld lesz, tovabba lehetetlenné vélik az Ul6rész rogzitése. Rogzitse a hintalabakat a FINI szék hatso labahoz a
hiively (13), csavar (8) és kulcs (14) segitségével (R. RAJZ), gyelve a hively megfelel6, O. és P. rajznak megfelel6
rogzitésére. Gy6z6dj meg arrol, hogy a fém takardelemek (10) a szék belsd oldalan vannak. A S. dbra bemutatja a
helyesen szerelt FINI széket a talpakkal.

26



V. KARBANTARTAS ES TISZTITAS

Mosni max. 30 °C-on, finom mosoprogramban kell. Tilos fehériteni

Ne szaritsa dobszaritoban & Ne vasalja

Ne tisztitsa vegyileg

X | & I3

Keret és a talpak: A fém és fa részeket puha, tiszta és nedves ronggyal valamint finom szappannal kell tisztitani.

VI. TAROLAS
Aterméket és annak kiilonalld részeit gyermekektl elzart helyen kell tarolni.

VIl. GARANCIA
A részletes Garancialis Feltételek weboldalunkon olvashaték: WWW.KINDERKRAFT.COM

Gentile cliente!
Grazie per aver acquistato un prodotto Kinderkraft.
Produciamo pensando al tuo bambino: ci preoccupiamo sempre della sicurezza e della qualita, assicurando cosi il
comfort della miglior scelta.

IMPORTANTE. CONSERVARE PER IL FUTURO.

AVVISO DI SICUREZZA E PRECAUZIONI
AVVERTENZE!

Riguardo la sdraietta:
¢ Mailasciare il bambino incustodito.
¢ Non utilizzare la sdraietta quando il tuo
bambino & in grado di sedersi da solo.
¢ lasdraietta non & predisposta per lunghi
periodi di sonno.
¢ lasdraietta deve sempre essere posizionata a terra, lasciare la
sdraietta su piano rialzato , ad esempio su un tavolo, puo essere
pericoloso.
o  Utilizzare sempre il sistema di fissaggio.
e lasdraietta e progettata per bambini sin dalla nascita e comunque
non oltre i 9 chilogrammi di peso.
o lasdraietta non sostituisce un lettino o un letto. Se un bambino ha
27



http://www.kinderkraft.com/

bisogno di dormire, va sistemato in un lettino 0 un letto.

Riguardo la sedia FINI in combinazione con i pattini:

¢ |l prodotto posizionato sotto la finestra puo
essere utilizzato dal bambino come gradino e
causare la caduta del bambino dalla finestra.

e Questo prodotto & destinato ai bambini di eta
compresa tra i 24 e i 60 mesi, di peso fino a 20 kg, che sono in grado
di stare seduti da soli.

o Non utilizzare il prodotto se alcune parti sono danneggiate o
mancanti.

¢ Non utilizzare accessori o parti di ricambio diversi da quelli
raccomandati dal produttore.

e Perevitare danni in fase di montaggio e di smontaggio del prodotto,
assicurarsi che i bambini non si trovino nelle vicinanze.

¢ Non spostare o sollevare il prodotto con il bambino all'interno.

e Prestare attenzione al fuoco aperto e ad altre fonti di calore.

|. ELENCO DEGLI ELEMENTI

Quantita
1. Pattini 2
2. Staffa in plastica 2
3. Barra metallica che collega i pattini 2
4. Telaio metallico del sedile 1
5. Telaio metallico dello schienale 1
6. Rivestimento del sedile con cinture di sicurezza 1
7. Vite M8x65 mm 2
8. Vite M8x85 mm 2
9. Vite M6x34 mm 4
10. Tappi metallici 4
11 Vite M4x15 mm 4
12. Manicotto distanziatore piccolo 2
13. Manicotto distanziatore grande 2
14. Chiave a brugola (misura 4) 1

Il. MONTAGGIO DELLA SDRAIETTA

Per il montaggio, & necessario un cacciavite a croce (non incluso). Utilizzando la chiave (14) e le viti (9) fissa le staffe in
plastica (2) ai pattini (1) (FIG. A). Montare le aste metalliche (3) sui pattini con le viti (11) (FIG. B). Far scivolare il telaio
metallico dello schienale (5) nelle staffe fino allo scatto di chiavistelli (FIG. C). Sul telaio dello schienale montato far
scorrere il rivestimento (6) (FIG. D) Inserire quindiil telaio metallico della seduta (4) nella parte inferiore del rivestimento
e chiudere la cerniera (FIG. E). Far scorrere il telaio della seduta nel supporto (FIG. F) finché non si sente un clic (FIG.G).
ATTENZIONE! Assicurarsi che i chiavistelli metallici del telaio siano saldamente posizionati nei fori delle staffe. 7. Infine,
stringere la cintura sotto il sedile.

Ill. FUNZIONI DELLA SDRAIETTA

28



Premere i pulsanti sui lati della sdraietta per regolare I'inclinazione dello schienale (FIG. H). La sdraietta ha due posizioni
d'inclinazione dello schienale (FIG. ). Per modificare la funzione dei pattini, girare i piedi sotto i pattini (FIG. J). La Figura
Kmostra i piediin posizione didondolino. Per bloccare la funzione di dondolino, ruotare i piedi nella posizione mostrata
nella Figura L. Per proteggere il bambino, far scorrere le cinghie addominali attraverso I'apertura dello sparti-gambe e
quindi collegare i ganci della fibbia fino a quando non si agganciano (FIG. M). Le cinture di sicurezza devono essere
regolate ogni volta, in modo che il bambino sia correttamente protetto. La regolazione avviene per mezzo di elementi
in plastica posizionati sulle cinghie addominali.

IV. MONTAGGIO DEI PATTINI AL SEGGIOLONE KINDERKRAFT FINI

Smontare tutti gli elementi della sdraietta FINIO in ordine inverso a quello presentato nel capitolo II. Nel seggiolone
Kinderkraft FINI, svitare gli elementi inferiori delle gambe, lasciando montati gli elementi superiori delle gambe e il
poggiapiedi. In seguito prendere i pattini e nei punti in cui sono montate le aste metalliche (3), fissare i tappi metallici
(10) usando le viti (11). Utilizzando il manicotto piccolo (12), la vite (7) e la chiave (14) fissare il pattino alla gamba
anteriore del seggiolone FINI (FIG. N). La superficie curva del manicotto deve toccare il pattino, mentre la superficie
piana deve essere a contatto con le gambe del seggiolone FINI. ATTENZIONE! Sulla Fig. O viene mostrata la corretta
posizione dei manicotti di plastica, mentre la FIGURA P mostra la posizione e la curvatura dei manicotti (i manicotti di
plastica hanno pareti che differiscono leggermente in altezza, per cui un'installazione non corretta causera un'errata
inclinazione delle gambe del seggiolone e I'impossibilita del suo montaggio. Utilizzando un manicotto piu’ grande (13),
viti (8) ed una chiave (14), fissare i pattini alle gambe posteriori del seggiolone FINI (Fig. R), avendo cura di installare
correttamente il manicotto, come mostrato nelle Figure O e P.Assicurarsi che i tappi metallici (10) si trovino nella parte
interna del seggiolone. La figura S mostra il seggiolone FINI correttamente assemblato con i pattini.

V. Manutenzione e pulizia

Lavare a temperatura max 30°C, programma

delicato. Non candeggiare

Non asciugare in asciugatrice & Non stirare

Non lavare a secco

X I8

Telaio e pattini: Pulire gli elementi in metallo e in legno con un panno umido, pulito e col sapone delicato.

Vl.Conservazione
Tenere il prodotto e le sue parti separate fuori dalla portata dei bambini.

Vil.Garanzia
Il regolamento completo dei termini e delle condizioni della garanzia & disponibile sul sito WWW.KINDERKRAFT.COM

IR

GEACHTE KLANT!
Wij danken u voor de keuze van een Kinderkraft product.
Wij ontwikkelen voor uw baby - wij zorgen voor de veiligheid en garanderen hiermee het beste comfort.

BELANGRIJK! BEWAAR DEZE GEBRUIKSAANWIJZING
VOOR TOEKOMSTIGE RAADPLEGING.

29



http://www.kinderkraft.com/

VEILIGHEIDSVOORSCHRIFTEN EN VOORZORGSMAATREGELEN
WAARSCHUWING!

Betreft de wipstoel:

Laat het kind nooit zonder toezicht achter. . ® >
Gebruik de wipstoel niet als uw kind e
zelfstandig kan zitten. - T

De wipstoel is niet geschikt om uw kind er
voor langere tijd in te laten slapen.

Zet de wipstoel niet op een verhoging zoals een tafel, omdat dit het
valgevaar met zich meebrengt.

Gebruik altijd het bevestigingssysteem.

De wipstoel is ontworpen voor gebruik door kinderen vanaf de geboorte
tot een gewicht van maximaal 9 kg.

De wipstoel is niet bedoeld als vervanging van een kinderbedje of een
normaal bed. Als het kind moet slapen, dient het kind in een daarvoor
geschikt kinderbedje of bed te worden gelegd.

Betreft de kinderstoel FINI in combinatie met sleden:
Als dit product bij een raam staat, kan het door een
kind als opstapje worden gebruikt en ertoe leiden
dat het kind uit het raam valt.
Dit product is geschikt voor kinderen van 24 tot 60
maanden, met een lichaamsgewicht tot 20 kg, die zelfstandig kunnen
zitten.
Gebruik dit product niet als enige delen beschadigd zijn of ontbreken.
Gebruik geen accessoires of delen die niet specifiek door de fabrikant
worden aanbevolen.
Zorg ervoor dat er zich geen kinderen in de buurt van de wipstoel
bevinden als u deze in- of uitklapt.
Verschuif noch til het product op als het kind erin zit.
Houd rekening met het risico van open vuur en andere hittebronnen.

|. ONDERDELENLIST

Onderdeel Aantal
1 Sleden 2
2. Kunststof zijsteun (linker en rechter) 2
3. Metalen stang die de sleden verbindt 2
4. Metalen zittingsbeugel 1

30



5. Metalen rugleuningsbeugel 1
6. Zittingsbekleding met veiligheidsgordels 1
7. Bout M8x65 mm 2
8. Bout M8x85 mm 2
9. Bout M6x34 mm 4
10. Metalen afdekdoppen 4
11. Bout M4x15 mm 4
12. Kleine afstandsbus 2
13. Grote afstandsbus 2
14. Inbussleutel (grootte 4) 1
Il. DE WIPSTOEL MONTEREN

Voor de montage heeft u een kruisschroevendraaier nodig (niet meegeleverd). Bevestig de metalen zijsteunen (2) aan
de sleden (1) met behulp van een inbussleutel (14) (FIG. A). Bevestig de metalen stangen (3) aan de sleden met behulp
van de schroeven (11) (FIG. B). Schuif de metalen rugleuningsbeugel (5) in de zijsteunen tot deze vasthaakt met
klikbevestiging (FIG. C). Trek de bekleding (6) over de gemonteerde rugleuningsbeugel (FIG.D). Schuif vervolgens de
metalen zittingsbeugel (4) in het onderste gedeelte van de bekleding en sluit de sluiting (FIG. E). Schuif de zittingsbeugel
in de zijsteunen (FIG. F) tot u een klik hoort (FIG. G). LET OP! Zorg ervoor dat de metalen drukknopen van de beugel
goed in de gaten van de zijsteunen geplaatst zijn. Tenslotte zet de band onder de zitting.

IIl. FUNCTIES VAN DE WIPSTOEL

1. Druk op de knoppen aan de zijkanten van de wipstoel om de helling af te stellen (FIG. H). De wipstoel heeft twee
hellingsstanden (FIG. ). Om de functie van de sleden te veranderen, draai de voeten die zich onder de sleden bevinden
in de gewenste positie (FIG. J) om. In Fig. K worden de voeten in de schommelstand weergegeven. Om de
schommelfunctie te blokkeren, draai de voeten in de positie die in Fig. L is getoond. Om het kind te beveiligen, steek de
heupgordels door het gat van de kruisgordel en verbind de gespdelen tot deze vastklikken (FIG. M). De
veiligheidsgordels moeten iedere keer worden aangepast zodat het kind goed beveiligd is. De aanpassing gebeurt met
behulp van de kunststof delen op de heupgordels.

IV. SLEDEN AAN DE KINDERSTOEL KINDERKRAFT FINI MONTEREN

Demonteer alle delen van de wipstoel FINIO in omgekeerde volgorde dan in hoofdstuk II. Schroef bij de kinderstoel
Kinderkraft FINI de onderste delen van de poten los en laat daarbij de bovenste delen van de poten en de voetsteun
eraan gemonteerd zitten. Neem nu de sleden en plaats de metalen afdekdoppen (10) met behulp van de schroeven
(11) op de plaatsen waar de metalen stangen (3) zijn gemonteerd. Door gebruik te maken van de kleine bus (12), schroef
(7) eninbussleutel (14), monteer de slede aan de voorste poot van de kinderstoel FINI (FIG. N). Het gekromde oppervlak
van de bus komt tegen de slede, en het platte oppervlak tegen de poten van de kinderstoel. LET OP! Op AFB. werd de
juiste plaatsing van de kunststof buisjes weergegeven en de AFB. P onderstreept de ligging en kromming van het buisje
(kunststof buisjes zijn voorzien van wandjes die een beetje in de hoogte verschillen, waardoor onjuiste montage kan tot
verkeerde afbuiging van de stoelpoten leiden en de montage van het zitje onmogelijk wordt. Gebruik het grote buis
(13), schroef (8) en sleutel (14) om de sleden aan de achterpoten van de stoel FINI te monteren (AFB. R), let daarbij op
om de montage volgens de afbeeldingen O en P uit te voeren.Controleer of de metalen afdekdoppen (10) zich aan de
binnenzijde van de kinderstoel bevinden. In Fig. S is een correct gemonteerde kinderstoel FINI met sleden getoond.

V. Onderhoud en reiniging

Wassen op max. 30°, zacht wascyclus. Niet bleken

Niet in de droogtrommel drogen & Niet strijken

Niet chemisch laten reinigen

X K| IS

31




Frame en sleden: Metalen en houten delen reinigen met een zachte, schone en vochtige doek en milde zeep.

VI. Opslag
Bewaar het product en zijn losse delen buiten het bereik van kinderen.

VII. GARANTIE
De volledige inhoud van de Garantievoorwaarden is te vinden op de website WWW.KINDERKRAFT.COM

Szanowny Kliencie!
Dziekujemy za zakup produktu marki Kinderkraft.
Tworzymy z myslg o Twoim dziecku — zawsze dbamy o bezpieczenstwo i jako$¢, zapewniajac tym samym komfort
najlepszego wyboru.

WAZNE! ZACHOWAC DO POZNIEJISZEGO STOSOWANIA.
UWAGI DOTYCZACE BEZPIECZENSTWA | SRODKOW OSTROZNOSCI
OSTRZEZENIE!

Dotyczy leiaczka: . ® >
. Nigdy nie zostawiaj dziecka bez opieki. e .
Nie uzywaj lezaczka, gdy Twoje dziecko | g C

potrafi samodzielnie siadac.
Lezaczek nie jest przeznaczony do diugiego okresu spania.

Stawianie lezaczka na podwyiszeniu, np. na stole grozi
niebezpieczenstwem.

Zawsze uzywaj systemu zapiec.

Lezaczek przeznaczony jest juz od narodzin dziecka do maksymalnej wagi
9kg.

Lezaczek nie zastapi tozeczka lub tdika. Jesli dziecko potrzebuje snu, to
powinno by¢ umieszczone w odpowiednim tdzeczku dzieciecym lub
téiku.

Dotyczy krzesetka FINI w potaczeniu z ptozami:
Produkt umieszczony pod oknem moie zostac
uiyty przez dziecko jako stopien i spowodowac, ze
dziecko wypadnie z okna.
Ten produkt jest przeznaczony dla dzieci w wieku od 24 do 60 miesigcy,
o0 masie ciata do 20 kg, ktdre sa w stanie samodzielnie siedziec.
Nie nalezy uzywac produktu, jesli jakiekolwiek elementy s uszkodzone
lub ich brakuje.

32


http://www.kinderkraft.com/

. Nie nalezy uzywac akcesoriow ani czesci zamiennych innych niz te
zalecane przez producenta.

. Aby uniknac obrazen podczas sktadania i rozktadania produktu upewnij
sie, ze dzieci nie znajduja sie w poblizu.

. Nie przesuwaj ani nie podnos produktu z dzieckiem w $rodku.

. Nalezy uwazac na ryzyko otwartego ognia oraz na inne Zrédfa goraca.

1. LISTA ELEMENTOW

Element llos¢
1. Plozy 2
2. Plastikowy wspornik (lewy i prawy) 2
3. Metalowy pret taczacy ptozy 2
4. Metalowa rama siedziska 1
5. Metalowa rama oparcia 1
6. Poszycie siedziska wraz z pasami bezpieczenstwa 1
7. Sruba M8x65 mm 2
8. Sruba M8x85 mm 2
9. Sruba M6x32 mm 4
10. Metalowe zaslepki 4
11. Sruba M4x18mm 4
12. Mata tulejka dystansowa 2
13. Duza tulejka dystansowa 2
14. Klucz imbusowy (rozmiar 4) 1

1l. MONTAZ LEZACZKA

Do montazu potrzebny bedzie Srubokret krzyzakowy (nie dofaczony do zestawu). Za pomoca klucza (14) oraz srub (9),
przymocuj plastikowe wsporniki (2) do ptdz (1) (RYS. A). Metalowe prety (3) zamontuj do ptoz przy pomocy $rub (11)
(RYS. B). Wsun metalowa rame oparcia (5) we wsporniki do momentu zadziatania zatrzaskow (RYS.C). Na zamontowang
rame oparcia nasun poszycie (6) (RYS.D). Nastepnie wsuri metalowg rame siedziska (4) w dolng czes¢ poszycia i zapnij
zamek (RYS. E). Rame siedziska wsur we wsporniki (RYS. F) do momentu ustyszenia charakterystycznego klikniecia (RYS.
G). Na koniec napnij pas znajdujacy sie pod siedziskiem lezaczka.

1Il. FUNKCJE LEZACZKA

Nacisnij przyciski po bokach lezaczka, zeby wyregulowac pochylenie (RYS. H). Lezaczek posiada dwie pozycje nachylenia
(RYS. 1). Aby zmieni¢ funkcje ptoz nalezy przekreci¢ odpowiednio nozki znajdujace sie pod ptozami (RYS. J). Rysunek K
pokazuje ndzki w pozycji umozliwiajacej bujanie. W celu zablokowania funkcji bujania, nalezy przekreci¢ ndzki do pozycji
pokazanej na rysunku L. Aby zabezpieczy¢ dziecko, nalezy przewlec pasy biodrowe przez otwdr pasa krokowego, a
nastepnie potaczy¢ zaczepy klamry, az sie zatrzadnie (RYS. M). Pasy bezpieczeristwa nalezy regulowac kazdorazowo, aby
dziecko byto nalezycie zabezpieczone. Regulacja odbywa sie za pomocg plastikowych elementow umieszczonych na
pasach biodrowych.

IV. MONTAZ PtOZ DO KRZESELKA KINDERKRAFT FINI

Zdemontuj wszystkie elementy lezaczka FINIO w kolejnosci odwrotne] do tej przedstawionej w rozdziale Il. W krzesetku
Kinderkraft FINI odkreci¢ dolne elementy nég, pozostawiajac zamontowane gorne elementy ndg i podnézek. Nastepnie
we? ptozy i w miejscach montazu metalowych pretow (3), przyczep metalowe zaslepki (10) przy pomocy $rub (11).
Uzywajac matej tulei (12), sruby (7) oraz klucza (14) przymocuj ptoze do przedniej nogi krzesetka FINI (RYS. N).
Zakrzywiona powierzchnia tulei powinna dotykac ptozy, natomiast ptaska powierzchnia powinna dotykac nég krzesetka
FINI. UWAGA! Na RYS. O ukazano prawidtowe utozenie plastikowych tulei, natomiast na RYS. P zwrdcono uwage na
potozenie oraz krzywizne tulei (plastikowe tuleje posiadajg Scianki, ktdre nieco roznig sie miedzy sobg wysokoscia, przez
co zle zamontowane spowoduja nieprawidtowe odchylenie ndzek krzesetka, a montaz siedziska bedzie niemozliwy.
Uzywajac duzej tulei (13), Sruby (8) oraz klucza (14) przymocuj ptozy do tylnych nog krzesetka FINI (RYS. R), zwracajac

33



uwage na prawidtowy montaz tulei, zgodnie z rysunkami O oraz P. Upewnij sig, ze metalowe zaslepki (10) znajduja sie
po wewnetrznej stronie krzesetka. Na rysunku S przedstawiono prawidtowo zmontowane krzesetko FINI z ptozami.

V. Konserwacja oraz czyszczenie

Pra¢ w temperaturze maks. 30°C, proces tagodny. Nie wybiela¢

Nie suszy¢ w suszarce bebnowej & Nie prasowac

Nie czysci¢ chemicznie

X & I3

Rama oraz ptozy: Metalowe oraz drewniane czesci nalezy czysci¢ migkka, czyst i zwilzong szmatka oraz tagodnym
mydtem.

VI. Przechowywanie
Przechowywac produkt oraz jego luzne czesci w miejscu niedostepnym dla dzieci.

VIl. GWARANCIA
Petna tres¢ Warunkow Gwarancji jest dostepna na stronie internetowej WW\W.KINDERKRAFT.COM

PT

Estimado Cliente!
Obrigado por ter escolhido o produto da Kinderkraft.
0Os nossos desenhadores concentram-se sobretudo na crianga, sendo a seguranca e qualidade sempre no primeiro lugar. Garantimos que
fez a melhor escolha possivel!

IMPORTANTE! MANTER PARA O USO POSTERIOR.

SUGESTOES RELATIVAS A SEGURANGA E MEIOS DE PREVENGAO
AvisO!

Refere-se ao bergo reclinavel:
Nunca deve deixar a crianga sem cuidado.
Nao utilize o bergo reclinavel quando a sua
crianga ja sabe sentar-se ela mesma.
0 bergo reclindvel ndo esta destinado para
dormir muito.
Se colocar o bergo reclinavel arriba, por exemplo, na mesa pode ser
perigoso.
Sempre utilize o sistema de fechos.
0 bergo reclinavel esta destinado ja desde o nascimento da crianga até
0 peso maximo de 9 kg.

34


http://www.kinderkraft.com/

0 bergo reclinavel ndo substitui 0 bergo ou a cama. Se a crianga precisar
dormir, deve ser colocada no bergo ou na cama.

Refere-se a cadeira FINI com patins:

. 0 produto colocado por debaixo da janela pode ser
utilizado pela crianga como degrau e fazer que a
crianga cair-se da janela.
0 produto esta destinado para uma crianga entre 24
e 60 meses com peso de até 20 kg que é apta de estar sentada ela
mesma.
Ndo deve utilizar o produto se qualquer elemento estd danificado ou
quando qualquer elemento falhar.
Nao deve utilizar os acessérios nem pegas de reposicdo diferentes que
as recomendadas pelo fabricante.
Para evitar danos no momento de instalar e desinstalar o produto
certifique-se que as criangas ndo encontram-se perto.
Ndo mover nem subir o produto com a crianca sentada.
Deve evitar o risco do fogo aberto e outras fontes de calor.

|. LISTA DE ELEMENTOS
El Quantidade

1. Patins 2
2. Suporte de plastico (esquerdo e direito) 2
3. Varinha de metal para unir os patins 2
4. Quadro de metal do assento 1
5. Quadro de metal do apoio 1
6. Revestimento do assento junto com as cintas de seguranca 1
7. Parafuso M8x65 mm 2
8. Parafuso M8x85 mm 2
9. Parafuso M6x34 mm 4
10. Tampdes de metal 4
11, Parafuso M4x15 mm 4
12. Bucha espagadora pequena 2
13. Bucha espacadora grande 2
14. Chave allen (tamanho 4) 1

1. MONTAGEM DO BERCO

Para a montagem sera necessaria a chave de fenda (ndo € parte do kit). Por meio da chave de fenda (14) e dos parafusos
(9), instalar os suportes de plastico (2) aos patins (1) (FIG. A). Instalar as varinhas de metal (3) aos patins por meio dos
parafusos (11) (FIG. B). Introduzir o quadro de metal do apoio (5) nos suportes até o momento de atuar os fechamentos
(FIG. C). Por o revestimento no quadro de apoio instalado (6) (FIG. D). Depois, instalar o quadro de metal de apoio (4)
na parte inferior do revestimento e fechar o ziper (FIG. E). Instalar o quadro do apoio nos suportes (FIG. F) até o
momento de ouvir o clique caracteristico (FIG. G). ATENCAO! Lembrar que os fechos do quadro estejam instalados com
certeza nos orificios dos suportes. Por fim, aperte o cinto sob o assento.

35



1Il. FUNGOES DO BERCO

Apertar os botdes aos lados do bergo para arranjar a inclinagdo (FIG. H). O bergo tem duas posigSes de inclinagdo (FIG.
). Para trocar as fungGes de patins deve virar respetivamente os pés que encontram-se por debaixo dos patins (FIG. J).
Afigura K amostra os pés na posigdo que permite balangar. Para bloguear a fungdo de balangar, deve virar os pés para
a posicdo amostrada na figura L. Para proteger a crianga deve passar os cintos de cadeira pelo orificio do cinto de
entrecoxa e depois juntar os fechos da fivela até fechar (FIG. M). Os cintos de seguranga devem ser arranjados cada vez
para que a crianca esteja bem segura. O arranjo é realizado por meio dos elementos de plastico colocados nos cintos
de cadeira.

IV. MONTAGEM DOS PATINS A SILHA KINDERKRAFT FINI

Desmontar todos os elementos do bergo FINIO n ordem inversa da apresentada no capitulo Il. Na silha Kinderkraft FINI
deve desparafusar os elementos inferiores dos pés e deixar os elementos superiores dos pés e o banquinho. Depois,
nos patins e nos lugares de montagem das varinhas de metal(3), fixar os tampGes de metal (10) por meio de parafusos
(12). Utilizar a manga pequena (12), o parafuso (7) e a chave (14) para fixar o patim no pé dianteiro da silha FINI (FIG.
N). A superficie curvada da manga deve tocar o patim, a superficie plana deve tocar os pés da silha FINI. ATENGAO! A
Fig. O mostra o posicionamento correto das mangas de plastico, enquanto na Fig. P foi dada atengéo ao local e a
curvatura das mangas (as mangas plasticas tém paredes que diferem ligeiramente em altura, portanto, se forem
instaladas de maneira incorreta, fardo com que os pés da cadeira fiquem inclinados incorretamente e, desta forma, o
assento ndo podera ser instalado. Usando uma manga grande (13), um parafuso (8) e uma chave (14) prenda os patins
nos pés traseiros da cadeira FINI (Fig. R), prestando atengdo a instalagdo correta das mangas, conforme mostrado nas
figuras O e P.Certifique-se que os tampGes de metal (10) encontram-se no lado interno da silha. Na figura S podemos
ver a silha FINI com patins correctamente instalada.

V.M ¢do e limpeza

Lavar a uma temperatura maxima de & Néo utilizar produtos de branqueamento.

30°C, programa suave.

N&o secar na maquina de secar M
4 Ndo passar a ferro.
roupa.

N@o limpar quimicamente.

o] 8

Quadro e patins: As pegas de metal e de madeira devem ser limpadas com trapo brando, limpo e umedecido e com
sabdo suave.

VI. Armazenagem
Armazenar o produto e as suas pecas soltas no lugar que ndo seja acessivel para as criangas.

VII. GARANTIA
0 texto completo das Condigdes de Garantia esta disponivel no site WWW.KINDERKRAFT.COM

STIMATI CLIENTI!
Va multumim pentru achizitionarea produsului nostru Kinderkraft.
Credm cu copilul dvs. in minte - intotdeauna avem grija de siguranta si calitate, asigurand astfel confortul celei mai
bune alegeri.

36


http://www.kinderkraft.com/

IMPORTANT! PASTRATI PENTRU O UTILIZARE

ULTERIOARA.
OBSERVATII REFERITOARE LA SIGURANTA SI LA PRECAUTII
AVERTISMENT!

Se refera la leagan:
Nu lasati niciodata copilul fara g

L)

Me

supraveghere. K
Nu utilizati leaganul, atunci cand copilul se | £5
poate aseza singur.
Leaganul nu este proiectat pentru o perioada lunga de somn.

Plasarea leaganului la indltime, de ex. pe masd, poate provoca pericole.
Utilizati intotdeauna sistemul de centuri.

Leaganul este destinat pentru copii din momentul nasterii pana la o
greutate maxima de 9 kg.

Leaganul nu poate inlocui un patut sau un pat. Copilul care are nevoie
de somn, trebuie culcat intr-un patut adecvat pentru copii sau intr-un
pat.

Se refera la leaganul FINI cu talpi:
. Produsul plasat sub fereastra poate fi utilizat de copil
ca treapta si poate duce la caderea copilului pe geam.
Acest produs este destinat pentru copiii cu o varsta
ntre 24 si 60 de luni, cu o greutate de pana la 20 kg,
care se pot aseza singuri.
Nu utilizati produsul in cazul in care existd piese deteriorate sau piese
lipsa.
Nu utilizati accesorii sau piese de schimb diferite de cele recomandate
de producator.
Pentru a evita vitamarile corporale in timpul plierii si desfacerii
produsului, asigurati-va ca nu se afla copii in apropiere.
Nu deplasati si nu ridicati produsul cu copilul in interior.
Aveti grijd la foc deschis si la alte surse de caldura.

I. LISTA ELEMENTELOR
[ Element [ Cantitate |
[ 1 | Tlpi | 2

37



2. Suport din plastic (stang si drept) 2
3. Bard metalicd de legare a talpilor 2
4. Rama metalicd a scaunului 1
5. Rama metalicd a spatarului 1
6. Perna scaunului cu centurile sigurantd 1
7. Surub M8x65 mm 2
8. Surub M8x85 mm 2
9. Surub M6x34 mm 4
10. Capace metalice 4
11 Surub M4x15 mm 4
12. Manson mic de distantare 2
13. Manson mare de distantare 2
14. Cheie imbus (dimensiunea 4) 1

1l. MONTAREA LEAGANULUI

Pentru montare va fi nevoie de o surubelnita in cruce (nu este inclusa in set). Cu ajutorul cheii (14) si a suruburilor (9),
atasati suporturile din plastic (2) la talpi (1) (DES. A). Montati barele metalice (3) pe talpi cu ajutorul suruburilor (11)
(DES. B). Introduceti rama metalica a spatarului (5) in suporturi pana la actionarea elementelor de prindere (DES. C). Pe
rama montata a spatarului introduceti perna (6) (DES. D). Mai departe, introduceti rama metalica a scaunului (4) in
partea de jos a pernei si inchideti fermoarul (DES. E). Introduceti rama scaunului in suporti (DES. F) pana la actionarea
elementelor de prindere (DES. G). ATENTIE! Nu uitati ca prinderile metalice ale ramei trebuie sd fie plasate bine in
orificiile suporturilor. In cele din urma, strangeti centura sub scaun.

1Il. FUNCTIILE LEAGANULUI

Apasati butoanele de pe laturile leaganului pentru reglarea inclindrii (DES. H). Leagdnul are doud pozitii de inclinare
(DES. 1). Pentru a schimba functia talpilor, rotiti corespunzator piciorusele, care se afla sub talpi (DES. J). Desenul K
demonstreazd piciorusele in pozitia care permite leganarea. Pentru a bloca functia de leganare, rotisi piciorutele in
pozitia indicatd in desenul L. Pentru a prinde copilul, trebuie sa treceti centurile de sold prin orificiul centurii dintre
picioare, dupa care sd conectati clemele cataramei pand la prindere (RYS. M). Centurile de sigurantd trebuie reglate de
fiecare datd, astfel incét copilul sa fie bine fixat. Ajustarea se face prin intermediul elementelor din plastic plasate pe
centurile de sold.

IV, MONTAREA TALPILOR LA LEAGANUL KINDERKRAFT FINI

Demontati toate elementele leaganului FINIO in ordine inversa fata de cea indicata in capitolul Il. La scaunul Kinderkraft
FINI, desurubati elementele inferioare ale picioarelor, lasdnd elementele superioare ale picioarelor si suportul pentru
picioare. Mai departe, luati talpile si, in locurile de montare a tijele metalice (3), plasati capacele metalice (10) folosind
suruburile (11). Folosind mansonul mic (12), suruburile (7) si cheia (14) atasati talpa la piciorul din fatd al leaganului FINI
(DES. N). Suprafata curbat a mansonului trebuie sa atingd taIpile, iar suprafata platd picioarele leagénului FINI. ATENTE!
In FIG. O este prezentatd pozitionarea corectd a manecilor din plastic, in timp ce in fig. P atentie a fost acordatd locatiei
si curburii manecilor (mansoanele din plastic au pereti care difera usor in inaltime, astfel incat atunci cand sunt montate
incorect, picioarele scaunului nu vor fi inclinate corect, iar scaunul nu poate fi instalat). Cand utilizati mansonul mare
(13), suruburile (8) si cheia (14) atasati patinele pe picioarele din spate ale scaunului FINI (FIG. R), acordand atentie
instaldrii corecte a mansoanelor, asa cum se aratd in figurile O si P.Asigurati-va cd dopurile metalice (10) se afla pe
partea interioara a scaunului. Desenul S prezintd scaunul FINI asamblat corect cu talpi.

V. intretinere si curitare

A'se spala la o temperatura de max. 30°C, proces delicat. ﬁ Nu albiti

E Nu uscati in uscatorul de rufe & Nu célcati

38



@ Nu curdtati chimic

ama si talpile: Elementele din metal si din lemn trebuie curatate cu o lavetd moale, curata si umezitd si un sapun delicat.

VI Péstrare
Pastrati produsul si partile sale nemontate intr-un loc, care nu este accesibil pentru copii.

VII. GARANTII
Garantijas noteikumu pilns saturs ir pieejams timek|a vietné WWW.KINDERKRAFT.COM

RU

YBAKAEMbIW KNUEHT!
Cnacvbo 3a NOKyNKy NPOAYKTa Mapki KuHaepkpadr.
Ml co3aanv ero ayman o Teoem pebeHke — Beera 3a60TUMcA 0 6e30MacHOCTY U KauecTse, rapaHTUpya KOMOpT
€amoro nyuLwero Bbibopa.

BAXHO! COXPAHWUTb AN11 NPUMEHEHUA NO3XKE.

3AMEYAHMA O BE3ONACHOCTU U MEPAX OCTOPOXHOCTU
BHUMAHME!

MpaBuna aKcnayaTauuu:
Hukorpa He ocrasnsiite pebeHka 6e3

Habntogenms. %
He wucnonb3yite lwesnoHra, Korga Baw 72 1 .
pebeHoK ymeeT CamoCTOATENbHO CUAETD. " C
LLlesnoHr He npeaHasHauyeH Ana Toro,
yTo6bl B HEM 40ANrO CNATb.

Henb3A CTaBUTb WE3N0Hra Ha NOBbILIEHWAX TAKUX KaK HaNpUmep CTof,
370 onacHo.

Bceraa nonb3yiTech CUCTEMOIA 3aCTEKEK.

LLlesnoHr npegHasHayeH ans AeTen Co AHA POXAEHMA [0 Beca 9 Kr.
LLleanoHr He ABASIETCA 3aMEHOW ANA KpOBaTW NMBO KpoBaTKW. Ecau
pebEHOK  HYKOaeTcs BO CHe, HaA0 ero nepemecTuTb B
COOTBETCTBYIOLLYIO AETCKYIO KPOBaTb MO0 KPOBATKY.

Kpecno FINI ¢ nonosbamu:
MpOAYKT HaxoAAWMiAcA BO3Ne OKHAa pebeHoK
MOXET UCMO/b30BaTh KaK CTYNeHb W NPUBECTU K
TOMY, 4T0 pebeHOK BbINAgEeT U3 OKHa.

39


http://www.kinderkraft.com/

Hactoawuit npogyKT npegHasHaueH pna Aeteit 8 Bo3pacte ot 24 ao 60
MmecAueB Becom 0 20 KA, KOTOpble YMEIOT CaMOCTOATENbHO CMAETD.
Henb3s 1cnonb3oBaTb NpOAYKTa €cau  jiobble  €ro  3NeMeHTbl
NoBPeXAEHbI MO0 OTCYTCTBYIOT.

He nonaraetca Mcnonb3oBaTh APYrix akceccyapos b0 3anyacTei, Yem
Te KOTOPble PEKOMEHAYET NPOU3BOAUTEND.

YT06bI M30EKaTb ONACHOCTU BO BPEMSA CKAAbIBAHWA U PacKNaAblBaHuUA
MPOAYKTa HAJ0 YBEPUTLCA B TOM, YTO ZETH HE HAXOAATCA PALOM.

He nepegguraiTe u He NogHUMaliTe NPOAYKTA C peBEHKOM BHYTPU.
Obpallaiite BHMMaHME Ha PUCK CBA3AHHbIN C WCMOMb3OBAHMEM
OTKPLITOrO OFHA U APYTUX UCTOYHMKOB TEN/A.

|. CMUCOK 3NEMEHTOB
nemeHTbI Konunuecrso
1. Mono3ba 2
2. T11aCTMACCOBbIM KPOHLUTENH (1€BbIM 1 NpaBblii) 2
3, MeTannmyeckui cTep)xeHb COeANHAIOLMIA N0N03bA 2
4. MeTananyeckas pama cugeHna 1
5. MeTannuyeckas pama CuHKK 1
6. OBLUMBKA CHAEHNA C PEMHAMM HE30MacHOCTH 1
7. bont M8x65 mm 2
8. bont M8x85 mm 2
9. bont M6x34 mm 4
10. MeTanauyeckue 3arnywku 4
11 bont M4x15 mm 4
12. ManeHbKas AUCTaHLMOHHAA BTY/IKA 2
13. bonblas AUCTaHUMOHHAA BTY/IKA 2
14. LLlecTurpaHHbIi Kt (pasmep 4) 1

Il. MOHTAX LUE3NIOHTA

[lnA MOHTaa HeOBXOAMMO MMETb KPecToOBPa3HBIN K04 (He NPUAoXKeHHBIA K komnaekTy). C nomolpto knioya (14) u
601708 (9), CMOHTUPOBaTL NNACTMACCOBbIN KPOHWTENMH (2) ¢ nono3bamu (1) (puc. A). MeTanaudeckue cTepkm (3)
CMOHTMPOBATH C N0N03bAMYM C nomolbio 601108 (11) (puc. B). 3acosbiBaiite meTanauyeckyio pamy CriuHky a (5) B
KPOHLUTEIH 40 MOMEHTa Koraa 3apaboTatoT 3ammmbl (puc. C). Ha CMOHTUPOBAHHYIO pamy CIUHKM HaCyHbTe 0BLIMBKY
(6) (puc. D). 3aTem BCyHbTE METaANMYECKYHO PaMy CAEHHUSA (4) B HUKHIOK YaCTb OBLUMBKM W 3aCTETHYTE 3aMOK (puc. E).
Pamy caeHUA 3acyHbTe B KPOHLUITENH (puC. F) 40 MOMEHTA KOrAa anemeHTbI WeAKHYT (puc. G). BHumarme! MomHue,
4T06bI METANNNYECKME 3aKMMbI PaMbl HAXOAWAMUCH B OTBEPCTUAX KPOHLITEIHOB. HaKoHeL, 3aTAHUTE pemeHb Nop,
CUAEHbEM.

1Il. ®yHKLMM Wwe3noHra

HasaTb KHOMKM Ha BOKax LWe3NoHra, YTobbl perynnpoBaTb HakoH (puc. H). LLIE3NOHT MMeeT ABe No3uLMM HakNoHa
(puc. 1). YTobbl NOMEHATL YHKLMM NONO3bEB CNEAYET NEPEKPYTUTL HOKKM HAXOAALYMECA NOA NONO3bAMM (puc. J).
PucyHok K nokasbiBaeT npasunbHOE MONONEHME HOMEK MPU KOTOPOM MOKHO KauyaTbeA. YTobbl GnokuposaTh
BO3MOXHOCTb KauaHus, CNeAyeT NEPEKPYTUTb HOKKM B MO/OKEHME NOKA3aHHOe Ha pUcyHKke L. YTobbl rapaHTUpoBaTh
pe6&HKy 6e30MacHOCTb, NepenokuTb HEAPOBbIE PEMHM Yepes OTBEPCTUE APYTOTO PEMHS, 3 3aTeM COEANHUTD 3aKMMbI
NPAKKK, Tak 4To6bI WENKHYNO (RYS. M). PeMHi Ge30nacHOCTU CeAyeT Kamabli pa3 peryaupoBarth, 4tobbl pebeHok
6b1n NPaBUBHO 3aCTETHYT. PerynaLMIO COBEPLIAEM C MOMOLLBIO MAACTMACCOBbIX 31EMEHTOB HaXOAALLMXCA HA PeMHe
Ha bespax.

40



IV. MoHTax nonosbes ¢ kpecnom KINDERKRAFT FINI

[lemoHTMpyli Bce anemeHTbl Wwe3noHra FINIO B obpaTHOIi ouepeaHocTM yem mpesctasneHa B rnase Il. B kpecne
Kinderkraft FINI oTKpYTUTb HUKHEE 3NEMEHTBI HOT, OCTaBNAA CMOHTUPOBAHHbIE BEPXHEE 3NEMEHTbI 1 MOAHONKKY. 3aTem
B3ATb N0NI03bA M B MECTax MOHTaa METANNMYECKUX NpyTbes (3), npuuenutb metanaudeckue 3arnywkm (10) ¢
nomoubto 60a708 (11). C nomowbio ManeHbKoit BTyKM (12), 60aToB (7) U Kntoya (14) MOHTMPOBATL N003bA HA
nepeHeit YacTu cTyabumka (puc. N). 3aKpuBAEHHAA MOBEPXHOCTb BTYIKM AOMKHA KACaTbCA NO/03bEB, NAOCKaA
nosepxHocTb Hor kpecna FINI. BHUMAHME! Ha puc. O nokasblBaeT NpasuabHOE PacnooKeHue NacTMKOBbIX FAb3, a
B pyuC. P BHUMaHWe BbIN0 YAENEHO PAacMONOKEHNIO M KPUBM3HE PYKABOB (y MAACTUKOBLIX PYKABOB CTEHKM HEMHOTO
Pa3NNYRIOTCA NO BbICOTE, MOITOMY NPU HENPABMABHOMN YCTAHOBKE HOXKM Kpecna He BYAyT NpaBUAbHO OTKNOHATLCA, @
CUAEHbE He MOMET BbiTb YCTaHOBAEHO. Mcnonb3ys Gonbluyio BTYAKY (13), BUHT (8) 3akpenuTe Non03bA Ha 3aAHUX
HoKax kpecna FINI (PUC. R), 0bpaluan BHUMaHWE Ha NPpaBu/bHYIO YCTAHOBKY PyKaBOB, Kak NOKa3aHo Ha pucyHKax O 1
P. MeTannuyeckue 3arnywku (10) AOMKHbI HAXOANTLCA Ha BHYTPEHHEN CTOpOHe Kpecna. Ha pucyHke S npeactasneHo
npaBuAbHbI MoHTax Kpecna FINI ¢ nonosbamu.

V. KoHcey 1 CTUpKa

Ctuparb B Temnepatype makc.30°C, HexHbIi
npouecc. He otbennsats

He cywwTb B cywmnke 6apabaHHoi & He yTioxuTh

HE unctuth xummyecku

X | & I

Pama 1 nono3bs: Metannuyeckue n AepeBAHHbIE YacTU YUCTUTb MRI'KOIZ, YNCTOW U BNAKHOM TpRI'IKOﬁ W A€NNKaTHbIM
MbIIOM.

VI. XPAHEHUE
TPOAYKT M €10 YacTh XpaHuTb B MeCTax HEAOCTYNHbIX ANA AeTeil.

VII. TAPAHTUA
MoNHbIN TEKCT rapaHTUitHbIX 0653aTenbCTB AocTyneH Ha caiire WWW.KINDERKRAFT.COM

B VAZENY ZAKAZNIK!
Dakujeme, Ze ste si zakupili produkt znacky Kinderkraft.

Nasim ciefom je spokojnost vasho dietata — vidy dbame na bezpecnost a kvalitu a garantujeme maximélne pohodlie.

DOLEZITE! POKYNY SI USCHOVAITE NA NESKORSIE

o _ POUZITIE.
BEZPECNOSTNE INFORMACIE A POKYNY
UPOZORNENIE!

Vztahuje sa na lezadlo:
. Nikdy nenechévajte dieta v leiadle bez
dozoru. /
. Nepouiivajte lezadlo v pripade, Ze vase dieta o K
41



http://www.kinderkraft.com/

dokaze samostatne sedief.

LeZadlo nie je uréené na dlhy spanok.

Umiestnenie leZadla na vyvySenej ploche, napr. na stole hrozi
nebezpecenstvom.

Vidy pouZivajte systém upeviovacich pasov.

LeZadlo je urcené pre deti od narodenia do maximalnej hmotnosti 9 kg.
Lezadlo nenahradzuje postielku ani postel. Ak dieta potrebuje spanok,
polozte ho do vhodnej detskej postielky alebo postele.

Vztahuje sa na stoli¢ku FINI v spojeni s lyZinami:
. Dieta mdze pouiit vyrobok postaveny pri okne ako
stupienok a mdze vypadnit z okna.
Tento vyrobok je urceny pre deti vo veku od 24 do
60 mesiacov, s hmotnostou do 20 kg, ktoré dokaiu
samostatne sediet.
Nepouzivajte vyrobok, ak niektoré prvky chybaju alebo si poSkodené.
NepouZivajte prisluSenstvo ani nahradné diely, ktoré nie st odporuc¢ané
vyrobcom.
Aby ste sa vyhli zraneniam pocas skladania a rozkladania vyrobku, uistite
sa, Ze v blizkosti sa nenachadzaju deti.
Nepres(vajte ani nezdvihajte vyrobok s dietatom vo vnitri.
Davajte pozor na otvoreny ohef a iné zdroje tepla.

I. ZOZNAM DIELOV

Prvok Pocet

Lyziny

Plastova podpera (fava a prava)

Kovova ty¢ spajajdca lyzZiny

Eal Bad Ead B o
[SNIN] I N

Kovovy rdm sedadla

o
—

Kovovy ram operadla

Caltinenie sedadla spolu s bezpe¢nostnymi pasmi

Skrutka M8x65 mm

Skrutka M8x85 mm

Skrutka M6x34 mm

= d Ead Bl

I

Kovové zaslepky

E N ES LY LS

11. Skrutka M4x15 mm

42




12. Malé diStancné puzdro 2

13. Velké distancné puzdro 2

14. Imbusovy kIU¢ (velkost 4) 1
Il. MONTAZ LEZADLA

Pri montaZi budete potrebovat krizovy skrutkoval (nie je stastou dodavky). Pomocou kltica (14) a skrutiek (9)
pripevnite plastové podpery (2) k lyzinam (1) (OBR. A). Kovové tyce (3) pripevnite k lyzindm pomocou skrutiek (11) (OBR.
B). Zasunte kovovy ram operadla (5) do podpier, az kym zapadky nezapadnui na svoje miesto (OBR. C). Na osadeny rdm
operadla nasurite ¢alunenie (6) (OBR. D). Nasledne zasurite kovovy rdm sedadla (4) do spodnej ¢asti ¢aliinenia a zapnite
zips (OBR. E). Ram sedadla zasurite do podpier (OBR. F), az kym nepocCujete charakteristické cvaknutie (OBR. G). POZOR!
Pamitajte, Ze kovové zapadky rému musia byt pevne osadené v otvoroch podpier. Nakoniec napnite pas pod sedadlom.

1Il. FUNKCIE LEZADLA

Stlacte tlacidla na bokoch lezadla a upravte sklon (OBR.H). Lezadlo ma dve polohy sklonu (OBR. I). Pre zmenu funkcie
lyZin otacajte noZicky nachadzajice sa pod lyZinami (OBR. J). Obrazok K zndzorfiuje nozicky v polohe umoziiujlcej
hojdanie. Pre zablokovanie funkcie hojdania otocte nozicky do polohy znazornenej na obrézku L. Na ochranu dietata je
potrebné bedrové pasy pretiahnut cez otvor krokového pasu andsledne spojit spony pracky, ai kym s cvaknutim
nezapadne na svoje miesto (OBR. M). Dizku bezpetnostnych pasov vidy nastavujte tak, aby bolo dieta spravne zaistené.
Regulacia sa vykonava pomocou plastovych prvkov umiestnenych na bedrovych pasoch.

IV. MONTAZ LYZIN K STOLICKE KINDERKRAFT FINI

Zdemontujte vSetky prvky lezadla FINIO v opacnom poradi ako je to uvedené v Casti Il. V stolicke Kinderkraft FINI
odskrutkujte spodné Casti noticiek, ponechajte namontované horné Casti noziciek a opierku noh. Nasledne zoberte
lyZiny ana miestach montaze kovovych tyci (3) pripevnite kovové zaslepky (10) pomocou skrutiek (11). Pomocou
malého puzdra (12), skrutky (7) a kltca (14) pripevnite lyZinu k prednej nohe stolicky FINI (OBR. N). ZoSikmena plocha
puzdra sa musi dotykat lyZiny, rovna plocha — ndh stolicky FINI. POZOR! Na obr. Obr. O ukazuje spravne umiestnenie
plastovych objimok, zatial ¢o obr. P upozorfiuje na umiestnenie a zakrivenie objimok (plastové objimky maju steny,
ktoré sa mierne liSia vyskou, takZe pri nespravnej montazi budu nohy kresla nespravne naklonené a montaz sedadla
bude nemozna. Pomocou velké objimky (13), skrutky (8) a klica (14) pripevnite zarazky na zadnej nohy kresla FINI (obr.
R), pricom dbajte na spravnu montaz objimky, ako je zndzornené na obrazkoch O a P. Uistite sa, Ze sa kovové zaslepky
(10) nachadzajd na vnutornej strane stolicky. Na obrazku S je zndzornend spravne zlozena stolicka FINI s lyzinami.

V. Odriba a Cistenie:

Prat max. pri teplote 30°C, 3etrné pranie. Nebielit

Nesusit v bubnovej susicke. g Nezehlit

Necistit chemicky

X & I8

Ram a lyziny: kovové a drevené Casti Cistite mékkou, Cistou a navihéenou handrickou a jemnym mydlom.

VI. Skladovanie
Vyrobok a jeho volné casti uchovavajte mimo dosahu deti.

VI ZARUKA
Uplny obsah zaruénych podmienok je k dispozicii na webovej stranke WWW.KINDERKRAFT.COM

43



http://www.kinderkraft.com/

Y

KARA KUNDER!
Tack for att du képte en Kinderkraft-produkt. Vi skapar med ditt barn i dtanke - vi bryr oss alltid om sakerhet och
kvalltet vilket sakerstaller komforten for det bésta valet.

VIKTIGT! HALL FOR SENARE ANVANDNING.

SAKERHETS- OCH FORSIKTIGHETSANMARKNINGAR
0BS!:
Galler liggstolen:
Ldmna aldrig barnet utan uppsikt. 0 ® >
Anvand inte liggstolen nar ditt barn kan sitta S
pa egen hand. Py [
Liggstolen ar inte avsedd for langa perioder
av somn.
Att satta liggstolen pa en hojd, t.ex. pa ett bord, &r farligt.
Anvand alltid spdnnsystemet.
Liggstolen ar avsedd fran barnets fodelse till en maximal vikt pa 9 kg.
Liggstolen ersdtter inte barnsangen eller sangen. Om ditt barn behgver
sova, bor det placeras i en l1amplig barnsang eller en vanlig sang.

Galler for FINIO liggstolen i kombination med skidor:
Produkten som placerades under ett fonster kan
anvindas av barnet som ett steg och fa barnet att
falla ut genom fonstret.
Denna produkt ar avsedd for barn i dldern 24 till 60 manader, som
vager upp till 20 kg, som kan sitta pa egen hand.
Anvand inte produkten om nagra komponenter som helst ar skadade
eller saknas.
Anvand inte andra tillbehor eller reservdelar an de som rekommenderas
av tillverkaren.
For att undvika skador vid hopfallning och utfallning av produkten, se till
att barn inte ar i narheten.
Flytta eller lyft inte produkten med barnet inuti.
Var medveten om risken fér éppen eld och andra varmekallor.

1. ARTIKELFORTECKNING
| | Artikel | Kvantitet

44



Skidor
Plastfaste (vanster och hoger)
Metall vevstake for skidor

Liggstolsram av metall
Metallryggstodsram
Sékerhetsskydd med sakerhetsbalte
Skruv M8x65 mm
Skruv M8x85 mm
Skruv M6x32 mm
Andkapor av metall
Skruv M4x18mm

Liten distanshylsa
Stor distanshylsa
Insexnyckel (storlek 4)

ORI NN W]

=
=

—
=

—
>

—
w

NI E N RN Y Y N R I R RN

—
Eal

1I. INSTALLATION AV LIGGSTOL

En krysskruvmejsel (ingar ej) kommer att krévas for installation. Anvénd skiftnyckeln (14) och skruvarna (9) for att fésta
plastfastena (2) pa lamellerna (1) (figur A). Sétt dit metallstangerna (3) till lamellerna med skruvarna (11) (figur B). Skjut
in metallryggstodsramen (5) i fastena tills spérrarna aktiveras (FYS.C). Skjut locket (6) (fig. D) over den monterade
ryggstddsramen. Skjut sedan in metallstolens ram (4) i botten av locket och fast dragkedjan (figur E). Skjut in
liggstolsramen i fastena (fig. F) tills ett karakteristiskt Klick hors (fig. G). Dra slutligen at baltet under liggstolssatet.

IIl. LIGGSTOLENS FUNKTIONER

Tryck pa knapparna pa liggstolens sidor for att justera lutningen (fig. H). Liggstolen har tva lutningslagen (fig. 1). For att
andra funktionen hos skidorna, rotera benen under skidorna (figur J) i enlighet med detta. Figur K visar fotterna i
gunglage. For att lasa gungfunktionen, vrid fotterna till det lage som visas i figur L. For att sdkra barnet, tra knabéltena
genom Gppningen pa grenbaltet och anslut sedan spannets krokar tills det snapper (figur M). Sakerhetsbaltena maste
justeras varje gang sa att barnet sitter ordentligt fast. Justering utfors med hjélp av plastelement placerade pa
hoftbaltena.

IV, INSTALLATION AV SKIDOR FOR KINDERKRAFT FINIO STOL

Demontera alla delar av FINIO liggstolen i omvand ordning till den som visas i kapitel II. | Kinderkraft FINIO-STOLEN
skruvar du loss underbenen och lamnar Gverbenen och fotstoden monterade. Ta sedan skidorna och pa
installationsplatserna for metallstingerna (3), fast metallpluggarna (10) med skruvarna (11). Anvénd en liten hylsa (12),
en skruv (7) och en skiftnyckel (14) for att fésta glidskenan pa det frémre benet PA FINIO-stolen (fig. N). Den bojda ytan
pa hylsan ska vidrora skidan, medan den plana ytan ska vidréra benen PA FINIO-stolen. OBS! | fig. O visar korrekt
arrangemang av plastbussningar, medan i fig. P, uppmarksamhet agnades at position och krokning av drmen (plasthylsor
har véaggar som skiljer sig nagot i hojd, sa daligt monterade kommer att orsaka felaktig avvikelse i benen pa stolen, och
installationen av satet kommer att vara omgjligt. Anvand den stora hylsan (13), skruven (8) och skiftnyckeln (14) for att
fasta glidskenorna pa bakbenen pa FINIO-STOLEN (fig. R), var uppmérksam pa korrekt installation av bussningarna,
enligt figurerna O och P. Se till att metallpluggarna (10) &r placerade pa insidan av liggstolen. Figur S visar en korrekt
monterad FINIO liggstol med skidorna.

V. Underhall och rengdring

Tvéttas i max. 30°C, mild process. ﬁ Blekas inte!

45



=

Torktumla inte!

=

Stryk inte!

3

Inte kemtvattas!

Ram och skidor: Metall- och tradelar ska rengdras med en mjuk, ren och fuktig trasa och mild tval.

VI. Forvaring

Forvara produkten och dess 16sa delar utom réckhall for barn.

VII. Garanti:

Den fullsténdiga texten till garantivillkoren finns pa webbplatsen WWW.KINDERKRAFT.COM

46



http://www.kinderkraft.com/

47



Easy with kids

kinderkraftofficial

kinderkraftofficial o kinderkraft

(AR) 1l shaiadi 1A Il Jeai¥ s yasd e il (3 il aadlS gl Sl S aSiasd, By iSlas Aaban foay
(CS) V zajmu péce o nase klienty - jsme radi k dispozici! Pokud jste se setkali s néjakym problémem
Vv souvislosti s obdrzenym vyrobkem, kontaktujte nas zptsobem, ktery vdm nejvice vyhovuje!

(DE) In Sorge fur unsere Kunden - stehen wir gerne zu Ihrer Verfigung! Wenn Sie auf ein Problem
mit dem erhaltenen Produkt treffen, treten Sie bitte mit uns in Kontakt in der bequemsten Weise
flr Sie!

(EN) In the interests of our Clients - we are at your disposal! If you have a problem with the
product you received, contact us in the most convenient way for you!

(ES) iPor el bien de nuestros clientes, estamos a su disposicion! Si tiene cualquier problema con
el producto recibido, péngase en contacto con nosotros de forma mas cémoda para usted!
(FR) Dans l'intérét de nos clients - nous sommes a votre disposition! Si vous avez un probléeme
avec le produit que vous avez regu, Contactez-nous de la maniére la plus pratique pour vous!
(HU) Barmikor allunk az Ugyfeleink rendelkezésére! Ha az atvett termékkel kapcsolatban
valamilyen problémaba Utkozott, az Onnek legmegfelelobb mddon vegye fel vellnk a kapcsolatot!
(IT) Prendersi cura dei nostri Clienti - siamo alla Vostra disposizione! Se hai incontrato
un problema con il prodotto che hai ricevuto. Contattaci nel modo piu conveniente per te!

(NL) In het belang van onze klanten - staan wij ter beschikking! Als u een probleem met het
ontvangen product tegenkomt, neemt contact met ons op via de manier die u het makkelijkste vindt!
(PL) W trosce o naszych Klientéw - jesteSmy do dyspozycji! Jesli napotkates problem dotyczacy
otrzymanego produktu, skontaktuj sie z nami w najbardziej dogodny dla Ciebie sposéb!

(PT) Para o conforto dos nossos Clientes - estamos sempre a sua disposi¢ao! Se tiver qualquer
problema com o nosso produto, entre em contacto connosco de modo mais confortavel para si!
(RO) In interesul clientilor nostri - suntem la dispozitia dumneavoastra! Daca aveti o problema
cu produsul pe care I-ati primit, contactati-ne in modul cel mai convenabil pentru dvs.!

(RU) 3360TsCb O HalUMX KMEHTaX, Mbl HaxOaMMCS B BalLeM PacriopsikeHun. ECriv Bbl CTONKHYNMCh
CNpo6/eMoit, CBA3aHHO C MOsyHeHHbIE MPOLYKTO, CBSMMTECH C HaMM HamGoree yAo6HbIM /151 Bac Criocob!
(SK) Nas zakaznik je pre nas dodlezity - sme vam k dispozicii! Ak mate akykolvek problém
suvisiaci s doru¢enym produktom, kontaktujte nas spésobom, ktory vdm najviac vyhovuje!
(SV) | vara kunders intresse - vi star till ditt férfogande! Om du har problem med den produkt
du fick, kontakta oss pa det mest praktiska sattet fér dig!

aﬁ«N\?ROBCE//HERSTELLE/R/MANu}:AcrURER/ .

{ . FABRICANTE/FABRICANT/GYARTGO/FABBRICANTE
Internatlor,al contact: FABRIKANT/PRODUCENT/FABRICANTE/PRODUCATOR/
support@kinderkraft.com NPOW3BOAMUTESb/A/YROBCA/TILLVERKARE:

(0048) 61 646 02 37 4Kraft Sp. z o.0. ul. Tatrzanska 1/5
60-413 Poznan, Poland




